
��������	
��
���
���
�������������
��������

������������


������
���
��� ���!��



��������
���������������������	
�����

�������	
���
����
�����
����	���

∀#���∃�����∃�
%∃&
∋(�����
��������

���∃��������
��������	
������	
��		

��
����	����
��������	
��������
	
����	�����
� �
!

���	�∀#��
��∃
∃%&∋(����	����

)
��∗ +∃(&�∋&,,∋&
−��∗ +∃(&�.∋+%/(∋

0����∗ ������	����1�����

2�

��

∗ 333����	������������	
���


�4���
�

�∗ 5��
��∗ ��6∗++���&(∗++�7��
&/∗++���&%∗++�7��

����
�	
��∗ ��6∗++���&(∗++�7��

��	��
�����
�
�∗ −��
�
�	�
�
�
�
�����	
������
�
�0���
��
�

���8∗ 9�������8����	����
�9: ,∋+�6+/�++
;��
�0<��∗ &.+.6+���������	
����	
��		

��
�
=5�
���
�	�
�
�∀�
>
;��
��0<��∗ &.∋&6+���������	
������
	
����	�����
� ��
=��
��
�>

2���
��?
�
��
�	��
��
��≅∀��������3
��?������
�
�=5∀��Α!8
��
�>
�������������������
�8
�Β�9
	
����
�
Β��
����

Β�2���	�	����≅
�
��
�
�
�34�	��
�����
�����
�����Χ�
�

(



)������∋(��
∗#�� �+
,
�−

.��
�(��∃ �/
,
�/

���
���
������������� �0
,
1�

���
���
�∃������%%�� 1

,
1/

���
���
2����∋(��
��3��#� 10
,
+�

.��
2��3����#� +�
,
+


4���
���
.∃�� +1
,
+5

!∃∋(���3���6����� +−
,
+/

�����∃��#� +0
,
5�

�∃����∃���� 5

,
51

∀#��∋(∃� 5+
,
5/

������� 



50


�������� 5�
,
−�

 �������∆�∗�����	
������
�
�0���
��
�
�
�
�∀�
�����)�
��∗����������
�2	��
��0�∆��∀	
���

���
�∆��
�	∗����Χ�

Ε
	
��
���������
�

�09�Φ��
∗���	��������

����8∗�∆���	0����8Β����	����

��
	
��?������
���	
�����?
�Φ�����0∆���
����	�&++Γ���
����
���
����8


/

��(∃���7��8��∋(����



5
��
 � 5�


� � 3�� � �
�
3
�	


5�������∀���Β�Χ�
��
���
 �	�����������0
�∀��� ��
3
	
�� ���
 ���
 ���	 �
��∀��
Β
3�
�	�
����8���
����	
∀��
���
��Ε
0
3�����
	�
�

�����
��Ε
	��∀�

	����
���8 � �����
� � ��		

∗ � 5������
�Β
���� �5�������
���� � �� ����#
� ����
�0
�
�Β�����:
�
��
��2����
����&6(/�

��	
 � �
�

 �3�
�
� ��
	��∀�
��
� �3��
��	 � ��	 � <������4��
� � ��
 � 	����
3���	�����
� � :���
� � ��� � 8���
�
��
 � ��	3��8���
� � �
� � −�����8��	

����
��
���4�
�����8
���Η�
��
����0
���� �3
��
� � 	�
 � �4� � ��	 � ���
∀�����

9
�
�Ι�Η�������4�
����
���������
∀

�3�	��
� � �
� �5
�	��
� � ��� � ��0
8
����
���
��
�Ι

<�����
����4		

����	���
���
��0
��
���
��;�������	��
����	

�
�����

 
�∀��
���� � �
	 �;����	 �3��� � ��

�
	��

� � 9
�
�	�
�������
�Β � ��

<������	Χ
�	������Β � ��	 � ��8��0
�
� �Χ�� �∆�����
� ���� �)�
�
�Β � ��

�
	����
�
����
� ��
�������
�Β ��
0
Χ��8
����	����

Β �  
�

����� � Χ��
����
 � ��� � ?
���
�� � �
���
 � Χ
�0
	���
�
�Β���		�
���;�������	�ϑ�
�0
�
�
��������8��Φ�
�	��
��5�#	
∀�
�
����
���	��	����
#
���	
�

�� ���� ���� � 	����
�
�∗ � Κ∀


 � ��	
����
 � 	���� � ��
 � Κ
���	����
����
��������
�	��3���
��
����		��
��

��
���
Χ���∀

��
�
���
Β���
��
��0
	
��� � �
� � ������	Φ	

�
 � ����� � ��

∀�

��3
��
��
��
Χ��8
����������0
�
	
 � �� � ������Β � ��
 � ���
��
��

Η
�
�
Χ��8
���� � =
��
 � 5�������

����
�
��
�

�	����>Β���	�∆����
��
�
� � ���
�
	��	��8
�
� � ��
 � �������0
�
� � �3�	��
� � �
� � Ε
3���
�� � ���
�
� �  
���
�
�� � �
� � Ε������	�
����
3
�
3
�
ΙΛ

7�������
��
�������

�3
�

������
0
�
�Β � �
���
 � �� ����3��0����∗ �5�		
�
� �5
�	�� � 4�
�����
 � �� ��Χ���
�0
��	�
	��
�
� � 3
�

��
	

�
�Β � 	���
����
 � ���∀����
 � ��

� � 3�
�
� � Χ
�0
	��3���
�Ι �?
�����	 ��
����
∗ �9∀		

Ε�

�	
��
��Η
����
��
��5
�	���
�

Χ�
��
���
 � ���� � 
���4��
� � �� � ��

�3��8
�
��������
��
���Χ���
�����
�
Η
� � ��
� � �4� � 
��
� ��
�
� � 
�	���

��
����

����
�

����
Ι
���
�
�	
�
	 � � � 	

�8
 � ����
 � �� � �
�
;��	
����
������
��
	�7��
�8
�	Β
�
	�<
�������	Ι

5����
 � Χ�� � ��	 � ���
� � 
��
� � 	��0
��
��
�3��


����
�	����
�������≅

�

����������������	���������
�∗
Η����
��
 �
��
�?������Β�
���−���0
���� � �4� ���
 �:�8���
Β ���
 � 
�
�


�
�
��Η
�
�
�
��	����
�= 
�
��

�<�0

���
�Ι>���	���
�

�Ι
Η����
��
 �
���3
�
3
�

	��
�
�8
�
��	
�
	 � 9
�
�		
��	Β � �
� � ��
 � ���

����
��
���Χ
�8���


Ι
.

)������∋(��
∗#���



Η����
��
 �
��
 ��
�
��	��
������0
��� �����
�����	�
�
 � �
� �����	

�Β
5�	���
Β � Κ�����	

�Β � ������	

�Β
���
����Ι

���
������
��
��8
����	�
����
�
	 � Μ�
�8
 � ��Β � ∀��
�
 � 
�
�
 
����

�ΛΝ�=5��8��&Β&∋>�
��
�?
������
��	���

�������
0
�
��	��
	 � Ε
3���
 � �� � ��

Η���	����
 �3
��
�Β � �� � ���0
���4


��∗ � ≅

�
 � �	
 � ����
 � ��

:
�
Β � ��		 � ≅
�
 � <�
��� � 	���
	
��	
��



��3���Β����
�����
∀��0
	��
�5���
�Χ
�	
∀�8
Β�����
�
:����������
��?��	
���
����
Χ
�

����
� � ��
� � �� � 
��3��0
�
�Ο ���		��
���
�9∀��
����3�
−�������Χ
	
��
� � ∀��
�
�
�����
���
	 � 9��� � ��8���
�Β
��		 � ��� � 
�����
� � 3��
����
��
� � 4�
�
���
� � ��	 � Η�		
�
����∀�
�� � Β � 	���
�� � ��		 � ���
����� � 
�� � 5�

�����
� � ��

5
�	���
�
����������



���	
�

2� � �
� � �
�
� � ∆�∀���
� � Χ�� � ���
����	
���
�#
�
	∗

ΜΚ
���	�
����
�
�Χ�����
	����
����
Κ���
����
	������	
��	

��
��3�����	
����
����
�	
 ��
	�−��
�
�	������
�
Ε
�
��
��8
�
��� � �� ��
	�	 �
�����
�
3�� � ��	 � ��
 � ;���
Β � �� � �� � 	
��
�
?
��� ��
� �9�
�
Β � �
� �Ε
�
��
��8
�

��� ��
	 � −��
�
�	 ���
��3��8
� ����
3
�
3
�
�����
��8
��
���
	�−��
�
�	
��
�����
�

��Ν�

:3
��9
�
����
������

�������	�Μ�
�
��
	����
 � ��� � �
� � Κ���
�� � �
	�
����	
�Ν � �4� � ��
 � Η
�
�
�
��	����


�
�
��
�∗

��������
∀


−4� � �
	�	 � 
��
 � 	
��	
Χ
�	
∀������

;��	
Π�
�� � ��	 � �
� ��
3�		
	
��Β
��		 �3�� ����
 �;���
� ��
	 �
��
�� �0


�	 � 	���� � ��
 � ��������
∀
 � 3��� � 
	
	��3
�����
�Β�3
����
��Η���	
���
����
 � �
�� � 	
��	
Χ
�	
∀������ � �	

=3�� � �
��
� � ��	 � ���
� � ����
 � ��	>�
Η
�� � 
	 � �� � ��
 �7�	�
����� � Χ��
5������
��5
�	��
���
�
���3�
�3��
��	��
�

�	�����	��3
��
�����
�
���0
�
� � ��
��		
�
� � ��	 � Ε���
������
����
	�
��		
� � �4� � 	�������	��
	
 
����

� � 8���

� � ��	 � 3��� � ��

5�	���
�	
��Β���
�����
�	������Χ���0

�� ��
�8
� �3�
 �3�� ������∀
�� �Κ���

8���

���	�Χ�
��
���
������Χ�����	
0
�
��Ε
�
��8���
�∗�	���

��3���

3�
���

��	
��

�����
��
����
�	
����0
�4�8��
��
�Ι

�
	��
��
��
�


�
��9
�
�		
����
	�Β��
��
��
	�Η��0
�
���
���
�	Β �8���
��3�� �����
 �
��0
�����4�
��
��
�����
��	
��
����
�

−�
��
�
�Χ����
	�
������5���
�8��0
�
��3�����	
�
�
���Μ�
��5
�	����
�

����
�Χ������
����
��Ν���
	��
��
�
�
9
�
�		
����
�#
���
������
�?4�88
��
��� � �

���
�
Β � 	���
�� � �8�
�
Χ
�0
	���
���� ��
� � ��	
�
� �Ε
3����
�0


�� � �
�
	 �8������	
� �9
�
��3
�
0
Χ��� �����
�Β �3�	 �����
 ���
 ����#
�
;�	

� � Χ
�����
� � �	
Β � ��
 � ���#
�
��
�
�����
�Β���
����#
��5�

����0
������
���
Χ
���������
7�	
�
 � 2�

����
�� � �∀		
 ���	 � �4����
3
��
� � �� � Ε
�
��	����
Β � <�
��Β
����
Β�;��
����

∋



Θ�
��
� � �4� � 9
�
�	Π����
∀
� � Ε���0
�
��
 � 	
�
� � ��	∀
����� � 
����
�
 � ��
��
 � �
��4�8��� � �� � Ε
�

Β � �� � ��

−�
��
����Ε�


	��
�	

��

�
	��
��
��
�
��
��
�����
Β���		�3��
��� � 

����	��
� �−��
	����

 �Χ
�����0


��	���
���2�

����
�

�)
����8�3���
	���
�������3���
���3
��
���4��
��
�
�������
��
��9
�
�		
���

Η
�����
�:�8���
	���	��
�� ������
�
5
���
�
 � ?
��
 � ���
�Β � 	

�
� � �
�
5
�	���
�
����#
�7�3∀�����
���
0
Χ����

Κ
���	����
����
�Λ � 9
������
		
Β
��
�3�������
�Χ����
�

���������
�
�����
��8���
�Λ�
������	���

� �3�� ��
�

 �	���� ���0
����
�Β ��
� ���	 ���� � �� � 
��

����
��
 ����
�
� �=5�	
�
�� � 
�
 �
	 �	����
��� ������
 �
	 �(++6 ���� ���
 �−���
�
ΜΕ�


	������������
3���
�Β�����

���
��
�
��8���
�Ν>Ο�������
������8
�
�� 
��∀�
��		
�3������	��
��
���

9�		
���	�≅

�
�	�����
��
����8���
	0
�∀���
� � 9
�
�		
�� � 
�
3��8
��Β � �
�
�
������
�������
��
���
�� ��8
����
)�	����
	�9
�
�	�	�
�
��8���
��

��
����
�

���������������������������������������������������������������������������������%



)������∋(��
∗#��
))������∋(��
∗#��
������∋(��
∗#��
)������∋(��
∗#��
)������∋(��
∗#��



�9
9
���
��3�:����
8��
)∃8∃;<����

∗#���
=#��∋��
#	
=(��∋(��
,
∗���3��∋(���∃�
�&�∋���7�
=#�������


�#���>
,
�∋(6��8
�/9
���

�9
?����∃�

���

2#3�����
�


���������	
���
���������	��
������	������	���������
	��������
�
�����	�����
�����������������������	��


��� ���	��
���������������������� ��������!��∀
�������������#��∃�	
��!�������	������!�∃
�������
��%���
����������&�	����!∀

����∋�

������������	�
�������
��������
������������������������
����������
������
��	����
�����

�
��Ε���8��
��3∀��
����
� �:
�
 ���
Η
������

� �����
�

 �
��
��	���
�80
����
��:�������9
�
������Ε
�
���
0
	
��8
��
�Β ���
�	�������4�����3��
��
����
�Β � ?�8


� � Χ�� � 3
�

� � ���
84��
�
��)���3
�

Β���
����
��������

�
	�
�
�

� � Ε
��


� � ��
�
�����
�Β
Χ
���
�



� � 4�
�3∀�
��
��
 � ����
�
Χ�� �Ε��� � �� �
��
�����#
� �)
�� ��
�
Η
�
� ����∀�
��� �&.++ �∆��∀	
��
�	
�
	����
�
������#

�

��	�:�Χ���	

�Β�;��0
�
� � ��� � −���
� � � �3
�

�
 � 
��	
��

	����Χ
�3���

Β ����∀�����
�
��	
��

	��� � 
�����
�	�
�
Β � ��� � 3�	 � ��
��
Β
	��� � ��	�
�
��

 � :
�	
�����
� � ���
���∀�
�����Η����∀�	
����������
�
0
����
� �Ε
�∀��
�Β �
��	����
#���� �;��0
��8
�Β ���
 �Χ�� ��
� �;����
 ��

��
�
�
3
��
�Β�����
������
���
2� � �
�������

� � 2	��
� �3���
� � Χ�
�
:�Χ���	

� � �

�


 � ��� � && � �����

�
	
���
� � �
� � �
� � ;������������
�Ο
Χ�
�
����
�
�3���
��Χ
�3���

�

(� ���
 �������
∀�
 ���
��
��� ��� �Ε���
��
��
 � 
�
�
��������
�
��� �5
�� � ��	

��
 �5������ �5
�	��
�Β � ∃+ � ∆���
�

�
���
Χ��8
����Β�	����Χ���<������	0
��


�����
 � ���∀����� � )��	
��
 � ��0
�
�
	��∀
�
�����
��Χ
����
�����	����0
����	0 � ��� � ��	 � Ε
	����
�
		Φ	

�
	����������
��
������8��
���	���
�0
�
�����
�Β ���
 � ���
� ����� �Χ�� ��
�
�	��
��	��
� � ?
��
���� � Χ
��∀��
 � �	
�
∆��∀	
��
�	�	��
� � ;����
��4��
��Β
?
��∀	
�
��

���
��Μ��
�����Φ�����0
��
	 �)��

�
� �2�

���
�����Ν � � =2�

�0
��
�����
 ��8
��� � �
� �;����
� ���

�0
����
�>��������
�
��5�
���
�

�2��
�
������
∀�
��Κ���	�8
���
��3���
��
�
:���������Ε����Χ
�3
��
�
�

/��<�����∀�
 ���
�Ε
3��
 ���Β�������	
Η��
 � Μ−��
�
�Ν � 3��� � 	
�

� � ��	�
0
	�����
�� �5�
 ��

����
�
��5
�	��
�
���Χ�
�
��9∀��
���	��
��
��3������Β�

,

.��
�(��∃�



�����
 �)�

� � �� � �
8���
� � ��� ���

�
� �  
�3���


� � �� � 	���
�
�� � �
�
;��
� � ��� � ��
 � ����
�	��
� ���
	��
�0
����
�������

�����
��
��
���
�
�∀�0
����
 �������
 �Χ�� � 
��3
������Β �Ε
0
3��
�����)�

��3
�

��Χ
�
�
�
�

.�����
�Χ
����
�
��9
�
��	�����
�����
:�Χ���	

� �3���
�� �� ��
� �;�������

3�
����
��
��−���
��
����
��������
0


� � 8
��
� �Η
� � �� � 
�
���
�
�� �Η��
���
Β ���
 �3�� �)
�� ��
� ���

���
�����
�
Ε
�
��	����
�	���Β�Χ
��
��

����	
�

∆�����
Β���	�)�

������

��
���?
��
0
����
�����
�����
��
	

�����
�∆�����

Χ
�	∀��
Β � �
� � Ε���8��
� � ���� � �
�
�
�������
���
	�2�

���
�����
��Ε
0
	

�
	 ���� ��
� � 2�

���
�����
� �5
�0
	��
��
��

 � 
�
3
�
� � �� � Χ
�����
��
��
� ��� ��

��
�� ������
 � 
��
����0
�
� ���	8�
��
�
�
� ���	 � 2�

���
�����

Ε
	

�������
�
���
�
������
�����Β
��
�	����������
���3
������Χ���Ε
0
3��
��
���
��

∋� � �
� � Ε���8��
� � �����

 � 9
�

 � ��
�
∀�

� � ���� � �� � ��
 �Η
�
 � ��� � ��

�
��#
Β �3��
�
����
��4� ��
�����	�
�
�
	 � ��

���
�����
� �Ε
	

�
	 � 
���
0
3��
����
�����	
���
����������
	���
�
3
����
�

���2	��
����
�3�
�≅
�
�����
0
�
��
��
Β���	�?
��
������
��	
Χ
�

���0
����Β��	
 ���
������������
�������
∀0
�
� � ∆�������
� � Χ�� � ∆�����
������
∀

��� � 7�

�	��
����� � �
����
�� � ��	
Ε
��
Β��
�	������
	�9
�
�����	��4
0
�
�Β��	
��4�����
��


����

��∆��

�
���

��	����
#������
����

���
�����
��Ε
0
�
��	����
Β�5����
��
���
 ����
� � �� � ��
	
� � 
���
3��
���
Χ
�	��
� �:�Χ���	

� � ���
� � ��� ��
��
�
�
�

� � �
��


�� � ��
�Β � �
�
�8

 � �
�
����
��
����

�	
�


� � �
� �  
�
��

�
<�
���
�Β� �Μ�
����Χ��
������
�������
��	����
	

�����
� 
����

���
��2	��
0

�� � �	
 � ��Χ
���
������ � ���
� � ��	 � �
�
��������	����
	

�����
� 
����

���
�
∆��∀	
��
�	
� � Χ
���	���

�Ν � 7�� � 
�
�∀��
����
Β���		��
���
��������
����0
����
� �;��
�	Χ
���
��
� ���
 � 2�

���0

�����
�Ε
�
��	����
�Μ��
� 
���
3��0

�����4���
������
�Ν��
���
Χ��8
����
Χ�� �Ε��� ���

� � 
��	

��?�	�8� � ��
Β
3
�� ���
 � �4� � 	�
 �Χ
���
3��
����
 �?
0
��
���� � 
	 � Χ
�	∀��
 � ��
Β � ��
	
	 � ��

����

%��Η�	����Ε������		�
�
��	
Β��	
�8
��

�	���
�

�)������
� ��	���		����;��0


�
 ��
� ����
���
���
	

�����Χ�����0
�∀	
��
�	�	��
��Ε
��

 ��
	
�
��3
�0
�
�Β���
�&6%,����
����
����
��2��−��0
�
 �Χ�� �Ε��� ����
� ���
 �Χ
�����
�
�
��
������
��
���
���������8���
8
�Χ

�
	
������ �	��� ��� �
��
� �&∃ �5���


����
�����8��
�Χ
�	��∀��
���
	
�
��
!��
�
��
��

���������
���
	

����
�
�
��
��;�
�	������
��Ε
3��
�3
�

��

,� � ��
 � :�8���
Β � ��	 � Η����
����
�
������
�����
��
�
�2	��
�	��∀��
��Χ��

��
���
�
��

� ���� �
��

� �−��
�
�
��� ���		
��
 � ���
 � �4� � ≅
�
 ���
 � 
��
	
��84��
��
� � ���∀	
��
�	�	��
� � �
��0


	����	� 
�	��
�Β�
��
��
�
��

����
���
�����
�9�	�����
	�;�����8
	����
�0
�
���
�Β�3�������:�8���
�����
���Ε
0
3��
 � ��� �;��
� � �4��
�� � 2� � �
� � )�
Β
3∀��
�� � ��
 � ����
�8	��8
�
 � �
�
Η
�
 � 	��� � ��� � Ε��� � 8���
�
��
�

Β
3���
 � ��
 ���	3
�
��� � �
� ���
����0
�
��������
�Ε
3��
��
�
��∆��∀	
��
�0
	
�����4����
���
	

�

�����∀	
��
�	�0
	��
��Ε
��

�3
�

��
�4��
��

∃� ���	�9
��
��Ε���	�	��� ���
�?
��
0
����
��
����
��Β���		�	�
����
� 
���
0
3��
����8
�
 � �
�
�4�
� � ���

	
��

�
��	��4�
�����
���
∃



��	���

���
�����
�Ε
	

������
�
���

�
��

� ����Β �����
 �3�		
�
���� �
��
�
���
�
� ��
��
 ��� ��
��
� ���
� � ��� ���
��

�	
4
�
���
���
�
����

���
�����
	
Ε
	

� � Χ
�	
�#
��
� � �8
���
�Β � ���
	����
��8
���
������
���	��
��
�∀#��

����	��∀
�
�� ���
 �	��� ������
8
 �Χ
�0
��
3��
����Β �3
�� � 	�
 � 	����
 ��8
��0
�
� � ��

�	
4
�
� � ��
� � ��
�8
��
�Β
�������
����
���
���3
������Χ���Ε
0
3��
 � ��� � 
��

����
� � �
� � Ε
	

�

����?
��

Β�3�
�	�
�
∀���������Ε���Β
�
��Η
	
���8�����!	
0�
��	��
��Χ��0
8���
��
�
6� �∆��∀	
��
�	
�Β ���
 �	��� ��
3����
�Β
	��� ����� ���

� ���	 �Ε
	

� ��
� �Ε
0
3��
0��	4�
��
���� ��∀��
�� �Η�� ��40
�
� ��
� � ��

���
�����
� �Ρ��
��� ���

Ε
3��
 � �����Β � ��
 � Χ�� �5�
���
�
��
�
��Κ���	��������
�
��Ε����
���
0
�
��:�Χ���	

�����2	��
�������
�
�����

��
�
	� ��8���	�
4�
�3����

&+� ���
 �����
�
 ��
� �∆��∀	
��
�	
� � �	

��
3
����Β�����
������4����
��

���0
���� � �
� � �
	

���� � 	���
�� � ����
	����
#���� � �4� � �
� � ������ � 
��
	
���8
����
�
��
� � ���∀	
��
�	�	��
�
�
��

	� �5�
���
�
� � �
� � 2�

���
����0
�
� � Ε
�
��	����
 � 
���
� � 

��3
�	

 
���
3��
�����4����
�∆���
�8Β���
���


5
�	��
��������
�����
�	��
���
��80

��
� � ����
	

�

� ����∀	
��
�	�	��
�
Ε
��

��

�
��
���
���	��	
���Χ
�����
0
��� � �4� � ��
 � ��

���
�����
 � Ε
�
��0
	����
Β � ≅

�
 � �8
�Χ � ��� � Χ
���
3��0

���	Χ������
�?
��

���
�����
�����∀0
	
��
�	�	��
� � ����
�	��
� � ∆���
		


��	����
#�����Χ���Η���
������Η�
0
�
�Χ
�
������� � �� � Ε���Β � �
� � Η
	
0
���8 ���� �!	
0�
��	��
� ���
 � �� � 
��0
�
���

&&��Η����
��
�
�������	
�
���������
∀

���
 � ∆��∀	
��
�	
�2��
� � ��� � 2	��
��	

��Β���
�	����������
����
�����
� 
����0
���� � 
��
� � ��
�����
� � ���∀	
��
�	�0
	��
� � 7����∀����8
�
 � ��� � ��� � �
0
3��
��	
��Η��
�	
�����
�
����
���
�0
�
 ��
	

���� �
����		
�� �Ε
3��
��	
�
Η��
�	
��� � �	
 � 
�� � ?
��
 � �4� �5
�0
	��
�Β���
���

���
	�
������
�
���Η��

���
��
��5
�	��
�����
� �<�
������0

∀

�Β�?
������
��������

��Η���
�	Β
�
���
3��
��	
��;������4��
��
����0
��		
��
� ���� ��
�
��

� �−��
�
� � ��
��

�	
4
�
��

&(��Η������
����
�Χ�
�
���

��������0
�
���
	 �Η
�
8����
���

	 ��� ��
�
�0
3∀�
��
� �Κ
���	����
����
� � ��	 �Ε
0
�∀��
��	Β�
��	����
#�����≅
�
�������
0
���
�����Χ���Ε����=(++∃>�

6 ����������



���������	
���
��
�����	��

�	��	���	��
���������

���������	
�� ����	����	�	� ��	� �����
���� � �	���	 � �� ��� � �	� � !�
�	 � ���
�	�������∀��	� 	������
�#�

∃�	���	��	���	��
���
��
����	����%	��

�&����
�	�∀
�	
�	���	�������������∋��
&�������	&#�

(	�� ���� # ���	
�� �∀�	 �������� �����	�
!�
�	�)���	��	���� 	����&� � ��������
∀��	� 	� � ����
��	�	���# � ���� ���� � �&�
���&∗����
�	����&����	��	�� �
����������
 ���	�+

��������	��	
�	����	
����������	��	
���������
��
�
 � ����� ������
�� ����� � �	���� � ��
� ����
��� � ���� � ���
���� � ��	 � ������
������	
 ���
�����
� � !��	�	 � ��� � ���� � �∀�� #�	
��
∃�������
�����������
����∀�
���%��
∀������
&��� �#	����
�����	��∀�� � �������
	�

∃�	�����������%��	��,	���−����	����
�����∀��	� 	� � ��� � )�	& ��	�
���	�	� ����
�	�	��	��.���	�#�����	��������	�� ��
∀�	�∀
��
��	�	��	���/�	�.���	�	�+

�
��
�������������∋����
������������(∀���
�∀����������		���	���
�
�����)����������
∗���	�∀����∀
����
�
�����������+���
��
	
���,��������∀  ���∀����������	������
�����	�
�
��
������)�����������������������
�∀����−�	��������.��	
��∀�������∗#∀	����
/����������������������
�
∀������0�	
����
∀���)�������#∀	������	��������������	
	��
�����������∀
��1�∗�����	
�����.����������
���∀���.������	�)�����	�����	���

0�	��	�	���� 	�	��� ���	����1��������
2�3
�	�� ����	� ���� �(�& 	�� �� �(−�	�)��
 ����4�5�1�&&����	��0�&&������	����#�(�&�
�	��∀�	����� ����� ��	�	���	&&	��+

,��∗
��������	�����.	�����������.�	�	�
�� �����	��������	���	����#��������	�	�
������������	���	��	������	�
���� ��	� ����	�	�� � ���� ���� � 	��	 ����
�	����	�&����)���
�&∗��6������	���−����.��

���	� ��� # �0	�� � �� � �	��	��∀���	�	��
�������1��������	�7	����.������������
	&� �  �� � ��	�	 � ,	���−����	� � ��� � �����
��
� � �	��	 � 7	����.��������� � !�	�	��
�����
���� � ���	��.�	 � 	�.∗��� � .���
�	�#�(�	��.	��	����	�	���
∗��
�	�����
���	��������&	��∀�	�	����&	� ���������	
�	�	�	�� � �� � ��	 � ,	���−����	� � ����	&�
.�	�	� � �������
�	�# � 0�� � ��� � �	� �  �&�
�
�	�������#�0�����������	���	#

0�� � �.	��	6 � 0�	 � 8����
�	� � ���� � ���
��
��.�	�)�����	�	��	&�	�����	��.�	���
(�����)���	����������∀��	� 	����&	�	�
.�&&� � ��� �	��	�)�&&����	�	�7	��	�����
�	������∗
�&�
�	��/���∗��	#�(��������
���
���	�����	��.	��	�����,���������
��� � /��	��������� � �	.���	�# � (����
����	���
�&����
�	��9��������	��������
��
���	�	� � ����# � !	�� � ��� � :	��� � )	��
��
��� � �&&	� � �� � ��	 � ��&∗�����	����
�	
��������	�	�−��	 � �� ��	�	�� ����	����
��	��������	������	����	�����∗�	�����
�	� � �	���	 � �� � ����� � �.��
�	� � (����
����9������� �	����	��.���	�����#

!���	�.���	��∀�	������	�	��(����
���)��
�	������	��	��	��������	����
������	�
��� ��� ���	 �(�&���� �0	���
�&���� ��	�
�	���	���	����&∗����	���	��+

�������∀��	#
���
���&��#����∀�������∃����

������
�
����		���������������
��������	�
��������	
��
��	���������		��������������
�
��		��	��������	
��
��2�����		������∀��3��
��� � /��� � !�∀
� � �∀� � �	���� � �∀	∋�
� � ����
��∀��∋��� � ��	 � ��	��
�������
	 � ��	�
�
1
������	�
�∀����∀�����������	������������
/���������������������
�
�������	�
�∀��
��	�−�	
3���������	������������
�	
������
	�
�∀�������	���	��
��
������

��������������������������

45



���������	�� 
 �� 
 ��
��
��������
�����	�� 
 ������������ 
 ���

����������������
����������

?≅�
���
∗�����∃�	�∃�
���
)∃8∃�����;
	��� 
6��� 
 ��� 
 ������∃��#�∃�� 
)�����;
�∋(∃	�
��(�
∃��
	≅�	
�����∃����
���#
������ 
 �������9 
 ���� 
 �� 
 ���� 
�∃���7�
�����������Α 
���
�����
∗�����∃�	�∃�
���∋(6����9


������∃
�∃�&
����∋(���9

.�/�(++6
2� �<���
� � �
	 �Ε���	
�
��
�	 � 	�
�
 � 
	
��	�3�
������
��
������
�
���2���
��0
�Φ�����
���	��
��	��
�)����
������
����

�� �����
	 �Η���Χ�
�

� ��
��������
�
��
����
����
����
����
���������	�8�
�0
�
�2���	
��
�
��

��
�	
��
Β���	���
�����

�
������8��
�4�
����
�
���


��

��
�)����
��Χ���
��


������
���	Β�3�	
2	��
��.&�����
���Χ�����
��
���
	

����
�
	 �Ε���	
�
��
�	 � �
����
� � ��


∗ � ��

�
���
��
��
� ����∀	
��
�	�	��
��Η��
0
	����
� � Σ�
0�
Χ
����
�
Σ � � � ��	� � Σ�
0
��
3��8����Σ � �
��
 � ��
 � ��
��8���	��

Η��
	����
	3�		
�	����
�
��� � ���� � ?�Φ
��
	
� �∆���
		Β ��
� �	�
 � �� � ���
��&66∋

�	���
�
�
� � �
������3
�8 � 4�
� � ��

Η��
	����
 � �
	 �Ε���	
�
��
�	 � �
	����
0
�
����
�

5�
 � �
� �����
���� � ��� ��
	

���� � ��
�����&6%,����
�2	��
���
��Ε���	
�
��
�
Χ�� � ∀�Φ�
�	��
� � Κ��

����� � ���
0
	����


� � ��� ���
 �3��
	����
����
� ��
0
��
����
� � �� � ��
 � �����	��
 � Η
�
 � �
0
8���
� � �
�

�
		
� � 3���
 � �
� � 	�����

9���	
���� � �� � �
� � ��
�	
 � �
� � �	��
��0
	��
��Η��
	����
��
	

��
��
��
 � ���∀	
��
�	�	��
� � 2�	
�
�
���
� � ��

Ε����3���
���
�	�����
�Β���
�Κ���
�	0
8���
� ��
	����		
� ���� ���
 ��
Χ��8
0
���� � �� � )��
����
�� � ��� � �	��
��	��
�
���	

��
���
����
�

<���� 
 �#		���� 
 ∃�	 
 6����∋(∃	���∋(�
)��������

�
��	
 � �
� � −��
�
�	����
		 � 3���
 � �4�
��
�∆��∀	
��
�	
��Χ���Ε���������
	�	0


�Β � �� � ��	 �Ε
��

 �3∀��
�� ��
	 �!	��0
−��
�
�	����
		
	�Χ���8��
��Χ���2	��
�
�����
��Η
�
��	���
�
�3���
Β�
�8�∀�
�����
?�ΦΒ���
 � �� �Κ��Χ��� �����
�	��
�Τ8���0
��
��
��
��
� Σ�	 �3���
 �
�� ��Φ	

��Χ�� ��
	���∀�0
8���
��������	�
�����
��
�����


Β���	
��
�5
�	��
�������
	
���	���
�

��8�
�0
�
��Ε
��

�
���
	�
��
���
�Σ�
5����4��
�	�������
������
�4�
����
�Ε
0
3��
�3���
��Β���
����Ε�������
��3�
�
�
��	��
��
����
�5
�	��
�����Ε���	
�
�0
�
��Χ
���
�

��	����3�
���
�2�	�		
��
�0
�
	 � ���#
� �Ε
�∀����		
	Β � ��	 � �
� � 
	
8
�����
����
���∀�
�

�
� �?4�8��� � �
� � 2	��
��	 � �� � ����
�
(++∋������

�����
��
��Χ�
�
���
	�
�3��0




� �3��
	����
����
� ����	��3���� � 2�
Ε
�
�

��Β � 
� �Χ
�	
∀�8

 ���
	
 � 2	���
���
���� ��
��Β � �
�� � 	
�
�
� � 	��� � ��
 � &Β∋
5������
� � ���3���
� � �
	 � 	�����
�
9���	
����	 � Χ����� � Χ�� � �
� ���#
�3
�

���
	����


���
<�����
��Η���	�
���
� �Κ���	������0
���� �(++% �Χ
��∀��

 � 2	��
�Β ���

�	
4
�

��������
�7�������������Β�
��
�	
�
��

Η��
	����
	����8��
Β � ��
 � ≅
�
 ���		���

����
��
�3��
	����
����
�Ε
	�������Ε�0
��	�������

�����

��
�����������
��Ε���8��
�����
�
����
�
Ε�
��
� � ��	���� � �
	����		
�� � <���
����
 � 
����� � �����

�����
� � �4� � �
�
Η�
�
��������3
��
���
�
���
��		
���

&&



&++�+++�!�������	
�	�
�
������	
∀�����
��� � �
� � )�4��
�� � ���
� � Κ∀�	
� � ���
3��

���

��
�3��

������Κ���
�Χ�����#
���������
��
�Τ��������
��Ε�
��
����������
���

2	��
��Χ��������8	����
	��
����
�
���	0
��
��	��
�������

��Ε����������
����∀�0
�����
����
Β��
����
�Κ���	���
��������
��	
��	����
�
�����∀	
��
�	�	��
�Κ∀�
0
����
 � �� � �	��
��	��
� �Ε
�∀����		
� � ��
�
��		
��3����

ΒΧ(��
∀����� 
6���
�∃�
)�����
�&%�#;
������Β

��
�∆���
�8��
���
	�
������	
���
������

��	�
�����
�∆����
���
	�Ε���	
�
��
�	Β
��

�	
�
���
 ����� �?�Φ� �Κ���� �8���
Β
��		 � �
� � Ε���	
�
��
� � 4�
� � 8
��
��
�
?
		����
� � Χ
��4�
 � ��� � 	
��	
 � ��

Ε����3�		
�Χ���∀

�����
������
�	�����

��
 � 2����	
��8
�� � 3���
 � ����� � ���
�
3�
�
�8
��
��
 � �	��
��	��
 �5���
∀���
0
��
���
��	��3
���
	��∀���
Β���
���3�	0
	
�
�
	������ � 	

�
 � Χ�� � �
� �;�����	Β
��	 �Ε
	����
�
	3
	
� � �	
 � Χ����� � 4�
�0
����
�
�������	��������		Φ	

��4�
���	0



�

��	 � ��∀��
��	

 � ∆����
� � ��
� � �	
 � ��

ϑ�
��
Χ��8
���� ���� ���
 �
�
�
�����

Ε
���

���

�������
��/∋+�Θ�����
8���0
�


�� ��
	 �Ε���	
�
��
�	 � �
�
� ��
�
�
	
�
�

 �&Β∋ �5������
� �5
�	��
�� ��
��0
�����
��
�3��

�Β���		�	�������
�������
����
���∀��	

���
�������
��Χ
�����
��
3�����
ΣΗ
�� � �4� � ��
	
 �5
�	��
� � ����
 � 
��
 
�
����
	�����
��3���Β���		�	�
���	�Ε
0
��

 � Χ
���		
� � 8���
�Β � ��� � ���
�

�

��
���4���������	�3
�8
Β������3������	
Ε
��

�
������
�
����	����
����4��8
��

��

���
�Χ
ΣΒ �	����
�∆�����	
��
� �Η�	0
	
�	����
�
����

2���
���

�

������
�����
�	��������
����
��
�Η��
	����
��
	�Ε���	
�
��
�	����4�8

�
3��8
�
Β � 	���
�� � ���� � ��
 � Ε
	
��0
	����
����
�≅���
��
Χ��8
�����	
��
���0
��
�	�
�
Β � 
�
����

 � ��� � 
�
Π��������
�
�
;
��
 � ��

� � ����		

����
� � ��	� � �4�
�
��Η�
�
���������
	�Ε���	
�
��
�	�

(�

������	)�
∗�%��
�#���+�����,−−.
(�

��� ���	) � ��
 � �����/�	��� � 0��
�
∀
12	!��33
		��4
����
��∋

?
�

���������
�


�
��Κ���	�5���	

���∀	��
�
�2	������Κ���Φ
�
��
�	
��
��
�
�
	����
�Χ
�84��

Β
�
���
��
�2	��
������8�
�
�
�
��
����
��Ε�
��
��Χ���&6%,�

�
���	��
��	��
�5���	

���∀	��
�
������!��
�

��
�
�8�∀�
Β���		�2	��
������
��Ε�
��
��Χ��
&6%,����4�88
��
����		�

��
��Χ���!�
����Ε���	
�
��
��
�4��
���	
�
�?
��
����
3���
�
����
�ϑ�
��∀��
���	
����Χ
���	���
�)��������	8���
����

2�	
��
�Χ���)��(
�(∃�#�Β��
���
�
�

��	

��
�	��
��	��
��−��
�
�	�
3
���������
��
��������	

�����

���������
���������

�� ����



<���
������
��
��∋(�

����� 
 �� 
 ��� 
 �∃�:��������� 
 �∃��∃;
3�����Α
8����∆��
���∃��
��∋(
������

��
�9
�
��
Β�Χ�
��
���
��	
�	�
�	�����3���Β�
�0
�∀��
Β � �
� � Χ
�	
���
�
 � 5�
�
��
�8
� � ∆����
Κ����Κ���������
�	
��
��
��
�

���
���
���
Β

��
 � ;��	
��8
���	�
������� � �4� � 
��
 � ���
0
∆��
���
 � Χ�� �Κ���� � ���� � ����
 � �� � 
�
3
��
��
��
 ��
���	��
� ��
��
�

� ����

� � ���
 �9���0
��
��
�0)��
����
���	�����	8����
�

��������0


����
�

 �∆��
���
	� ������∀�
�� �����

� �	�
 ���

?��

Β��
����

����
�)��������
Β���
�5������0
8
�

� � �
� � ;����	���Β � �
� � ������
		
� � �
�
∆��
���
 ���� � ���
 �−��
#�∀���8
�
� ���	 � 	�
 � ���

���
���		
 � Χ���
�

�Β � ���



 � ��	 � 7�

�� � �
	
∆���
		��	∗
������
����
�� � ;
��
� � Χ�� � 
��� � ����
Β � 3���
3���
��
�	����
�∆��
���
�������
�Β�3
		
�����

���
#
��	��������Χ������
��3�����
��
�Ε
	�����

�����
�����
����
��3����	
��Β
3�����	
Β���		�2	��
���
���
��
��	
��
��
��
�
�
���
0∆��
���
0)
	
�	��
�

�
��Η∀��
���2	��
����

����
�Χ
�����
�
�Η���
���
�Ε�����
	��∀�
��

3��Β � ����

 � ��
����Β � 3
		
� � ���
 � Χ
���		
�
3��������3���������
	�	��
��
�
�����
Β��
��
��
��� ��
�
��
� ���
 �������	��
 ��
���
��
� �:�0
�4�8���
���Β�3
���
	�	�
��
���≅
����Β��	
 �Χ
�0
�
		
��

��
 ����
��<���� �Ε��Φ��� ��Π����
�
Ι �<�
����
�∀��
���
��3������−���
������;���
�Β���
��
��
	
��
� �������� � ��� � 9
�
� � Χ
����
�� ���
�
��

��	��Χ
�

��
��
��∆����
�	����
�3���
���
����0
�
� � ��	����		�
�
� � ��		�8��
�
Ι � �8�
�
��
��
−4���8�
��
����3
	

��Ι�������
��∆��∀	
��
�	
�
	

��
�����;���8
��∀�	
��Β�3
�� ���
�����
���0
	
∀�������	�
	
�



�	���Ι�∆
���
	�

Κ�
� � ��
�
� � ���
 � 
�

� �9
��
�� �5����
 ���Χ��
	����8�
�������
�?
��
��
�
���
�����
�
���7�0
	
�
�Κ
��
��	�������
��
3���
��������	
�
���0
�
���������Ε����2	��
����
����
�
��
�8

�7�0

�
���

���
�Β���
���	����≅
�
�� 
���
��
���
0
�∀���
����
��	
���	
�
��4��
��
��2�

��
8
�
��
�
	��
��
������
 ���	Β �3�
 �Χ
�34	


 �3�� � ���3�0
	��
��	����
��	�9
��
������4�
������
����
	�8�	��
�Β���	
34��
�Χ
������
������
Β���		�	���
�8����
�9
�0
�
�����Ε����Χ
����		
����
�
���	
�������������
?���
�������
	
��Κ���
��3����
�
	�������
���

�
� � <�
3
����8
�
 � �
� � ��	���
�8���� � ���
�
��
���	�5���
�����������
�:
�	
�������
	�9�0
�������∀��	
��
3�
	
�Β���		�	�
�����
����8
��0
��
�
��
��Β�����3
�#∗�;��
���	
�;��
�����
���	
�3��8����
����
	 � ��Β � ��	 � ��
	
 � ���
0∆��
���
 � 	
���
�
8���

Ι��
��	
���
Β��
�
��Κ
��
��Χ���Μ������0
	��
��?
��
Ν�Χ
��∀�


�	���Β�3
��
����
����0
�
����	����
�
��
�����
�����8������

�����
����
�∗ �5�
 �3
���
� � 2	��
� � ���
� �3�� � 
	 � ��

��Ι �Η�	 � 3��� � ��	 � 	
��
� ���	
�
� � �� � �
�
Η
�
Ι �Η�	 � ���	
� �3�� � �
� ����
��

� � �����0
	��
��?
���
�����Ι�Η�	���
��
�����8���
��0
�
�� ��8	3�
��
�
����	�4�
����������
��Η
�
Ι
Η�
�	����Ε�

	���	���
	
����
��
������5��0
�
��8���
�Ι

�	��	
��3
��
����
Β������
�Κ���	���������
	
�

�
��
��;��
��3��8�����8�
�� ��
����
 �3
��
�
3�������
��2	��
������	
��
���Χ��
�����

��3��0
�
������������	�����8�
���
����
����Β�����	�
	
≅
�
��	
�
�

Β���	�Μ−��
�
�	���
�Ν�

;
���?



���������
��Η
�
���4��Ε����������4�
��
 �ϑ�
��
	

 �Χ���Κ�����
∀
 ����� �	��
��	��
�
�
��8��
�
��Η
�����
�:
�
��
���������8���
Β
3
��
� �3�� ���	 ������ �
����
�� ��4		
�Β �3
�0
��
� � �����
� � ��
	
� � ;��
� � 2	��
� � ��
�
∗ � ��

���
0∆��
���
�3���
��
�
���
	

��
�

)���#�
��7>Β��
���&6∋∋����)
���Χ�Χ���
�
�&6∃(
���
�


 � 
� � �
� �Κ���

� � = � �4��
��
 � �	��
��	��

:
�
����>�������
�
	���
�	���
��(++∋�Χ������
�� �Η���
�8���
�0 
����∗ � Μ����
�Β � �
��
�

	
9������9
�
������)�����

���	��
��	��
���
	�
0
����Ν�
−���8���

��?���	�����Χ���∋���������(++6

&/ ��������������������



)∃8∃�
2��
�∆��Α
�∆��
!∃∋(�∃�

;�

����
∗�)
�

�

 ��∗�∆���
		���?���� 
��
�
�

��� 	�����∋�& �7	�&	�	�����.���	�
�� � ��	 � 9���	 � ;!�� � .���	� � ∀�	
�����.	���������
�����∀�	��	��� 
���	 � !������ � .�� �+< � �	�
�	�
��
���.���	��
�� �&	���
9���� � =��∀�&��	��	�� � ��	 � �����
�	� � ����	&��
�	� � ���	� � �� � �����
∀��	� 	���	
�� 	�����

5�
 � �
� � −���
 � ΜΗ�	 �34��
� � ��
 � 
��Β
3
���2���<��������

��
�����2��
�Η��0
�����3���
ΙΝΒ��
��
�
�
��
���
��	��
��	��

Ε
	�����
	3�		
�	����
�
��� � −���� � !�0
�����
��
� � �
� � �	��
��	��
� � ;��
� � ��
Ε���0�
�
��
���?���� 
��
�
����
��
���
	

−���
�����
������
��
������Φ	
��������
����
�����	
��
�	
�
	Β �ΜΗ�	�34��
����

����
�Β �3
�����
�	
�
 ���	
 ���
� �����
�
��

��
��
�����8��
�	

�
�ΙΝ�

������2�������−����!�0�����
��
���4����
0
	
	 � �
�	��
� � ��
 � �
� � <������� � 	
��
���8���� ��
�� ������ � 8��� ���� �Χ�
�
	
��	�������� � 8�������
�� � <
��
� � 3��
�
����������
�
�����
����
�����2��
�Χ��
��	
��<��������	���
�
���

�����	�
�


−�����
���
�Κ��	�
	�
�
�������

����

�
������
 ��
�834����
�� 
��∀�
��		
 � ��
Η�������8� ���
 �<������	3������ � �	

Ε���∗�

&>���
����
��Χ�����
������
���
��<���0
�������
�����4		
�����
����
�����

(>���
����
��Χ����3
������
���
��<���0
�����
��
�����∀�
�������
	����8
����

/>���
����
���
��<����������
��
0

��
�	8�	

���
��Η�����������
�8���
8

���
�
���

����

.>���
����
��	�����Χ�
�
�∆
�	��
����	
�
��<������	3����������
�����
�
�	3�����

�

∆���
		���?���� 
��
�
���	
�∆	Φ������

����
��7��Χ
�	�
∀
�94�
�8��������

���

�4��	��
�Ε
�
���
�94�
�8������
�
9���
	Χ
����������
	3��0Κ��	

�����

���������	
�	
�
�(++%��
�
��
�

���
	
9���
	Χ
�����	����:
�
�����
��
�����
�
����
�
	�������

������

46



�∋�∀∀�1�88���/��

7��� � ���� � ��� � ��������
���� � ����
����������������∀��
�∀����
#����(���������������

 �8
���	
���∃∃�−�∀���∃��#	
����	�	
��
���������!�∀
	
���������
�	������∗���

∀��������∀���	������∀��

������� � 9:� � /���∀��1 � 7��� � ���� � ���
��������
������������
���������4���	
9��0#������������������������ ���
�����

����
������ ��������������� � �∋� �����
�∀� � �∀����
#��� � (����������������
(∀,������	
�� � �
�������� ��∋		� � 	�
�
��	�������
���
���∀
�����∋�����	�
����
��		 � ��� � ���
���� � ��	 �����	
������	
∀�����������
���������������������
���
��	
���∀�������0��	
�����������	
����
�����∀���������������

!��	 � ������
 � ��� � /������	�∋����	 � �∀	
�∃∃�− � ;��
����
������ � <��
� � �∋� � ���
&���∋
∀�����	�(
��������	=��>∋��	
���
�
������∋� �����
�
���/������� �������
�	
� � ∃��#	
����	�	
��� � ��������
!�∀
	
������ � !�∀
	
��∃��#	
����	��
	
��� ���	���	
���
 � ∀�� ���� � ��
����
���
����� � ��
����	
��� � /������	�����∀��
 �8
���	
�� ���	���
 �������
	���∀������
��	 � ∗���	�∋
����
����	 � ����� � ��� � ����

�������������� ��
�	
���
�

�∀���	������∀���∀����2��∋		
������
��� ��������������� � �∀,����� �����∀�
��#����� � ��		 � ��� � )����	 ��
���� � �∋�
��
	
��������
�#��������2�∃��3��
��
�∀��+�
���	
���
�����������������

�	�	���∀������
���
��
�������∋�������
������� � �
�∀���������� � ���� � �� � ���
(∀���∀��∀�	
�
���������	�������������
�������∀�� ���	 �����	
������	 ���	
���
��� � �	
� � ∀�� � ���� � ���3������� � ��� � ���
.��	
��∀�� ��������
��� ���
�
 � �∀� �&���
��
���
∀����∀��������

!�	�&�������
�
����
�
�����+�������∋�
��� � )������
��	∀��� � 	� � ��	 � /������	�
�∋����	� �!�� ����
���� ��������� �∀��
+���
����∀���������.��������	
�,�����
�
0���∀�� � ��	 � �∋����		�	 � ����� � ��	
&�������
�
1�?−���������������
����∀��
�
���∀�������(∀	�∀��������������������
�∀�������4�≅�0���������0��	
������
�


�
����	 � �∀	����� � �∀��� � 	�� ����
�����
∀�
�� � ��� � ���
��	�
�
�� � ����
#��	
���
(�������� � ∀�� � ����� � /����� � ������Α�
���,
��	����(  ������	��∋����		�	�����
∀�����∀���	
��	���� �#	����
�!���−����
�����Β����	��∀������
�����∀���	
��	�
���������
���������	
�����∗�����>�	��
(������		��� � /∀��� � ∀�� � !��∗��	�>∋��
��� �(������
� � ∃�����	
�� ����������
	
���)��
����∃�����!���2���
����

	
����
�∃∃�−�&��	
��� � ∀�� � ∃���� � !�� � +���
&�������� ����������� �&��	�
���������	
%����	�������	 � >∋��	
�� � �������
	
���
 � �
���	����∗��	
���� � ∀�
�����
��
��
�������

7���������������∋��0��	
����∀���−��
������
�������������������∋���������
��
����� � )���� � �∋���� � �∋� � �����
�
��
�∀���	������ ���
��
��∀���	
����
 �/����
����

)��
��
1�Χ���	
����∗��������� ���������
	����
#���� �8
���	
�� �∗�����	���
���	�
	��∆��4544Ε���������
Β�������;5∆5=�955Ε:ΕΦ49��
/�8�;5∆5=955Ε:ΕΦ4Γ��
���� �8
���	
����
�����1���
��
Η������������
−��	��
�1����������������
 �8�
���	
������	
�����		���

Ι��−��
�∀��+��	
��0�
����
�∀���∀����
���Ε
!�Ε5≅:Ε��
∀

���

556Γ�;5=Ε44�9:9:Ε95

4≅ ������



���	��������&	����
�&�
�	�
�������.�
�	�

	≅�
?������
��
�∃�:����∃
���
���∃��Α

+9;��9
Ε���

��0

����
�������∃��
7#�
Φ3������∋(��
�∃�
���
<��∋(��
3##���������
?≅�;

�%�∃∋(������∃��7�

�	��	
�:
�
��4��∆��∀	
���

�	��	
�:
�
��4��∆��∀	
����
�	��	
 �:
�
 ��4��
��
���
�
��

��−��
�
�
�4��∆��∀	
��������2	��
��

�	��	
�����
��:
�
Β���	��
�	������
�9
0
�
��������

���� ��
��9���Β���	��
����
�
����
�3����

�	��	
 �����
��:
�
Β���		�Κ
����������
�
Χ
�3���


���

�
���
����
�

�	 � �	
 � �� � �
� �:
�
Β � %+ � ����
 �;�����8
Β
7�

���4�8�����������	
�����

��
��
�	��	
�:
�
��4����
��
��
�������	��
���
0
	

�����

�	��	
�:
�
��4����
���
�?
��

�

�	��	
�����
��:
�
Β���	8������
����Β��
0
��
��
��� ��������	���∀�8�����
� �−�
�0
�4���8
�
�����

��
��

�	��	
 �����
� �:
�
Β ���		 ���
≅
���
�Β ���

5��
�� � ��� �:∀��
 � 
�����

�Β � ��
	 � ���
���
��
��
�
��Ε������������
��
���

�	 � �	
 � �� � �
� � :
�
Β � ����
 � ��������
�Β
Κ∀�	
���
� �
��
��Ε
�
��	����
 ���
�
�0
��3���
�Β�3∀��
���Κ∀�	
���
�����
�
�
Ε
�
��	����
 � ��� � 9��� � 
�����


 � 3
�0
�
�Β���	���������
��
���
�

�	��	
�:
�
Β���
��
������
������������0
�∀��
��

�	�3����:
�
Β���		���
�2	��
��	��������
�0
�
�
��������
������	���
�
��Ε�
��
���
0
�
�Β�������
�	�
�	������
����
��<�������
�

����
����
��

�	�3����:
�
Β���		���
���

���
�����
�Ε
0
�
��	����
 ���
 ��
� �7�	

���� �Χ�� �%+
����
��7<0?
	���
���
���
����
�

�	�3����:
�
Β���		���
��	��
��	��
�?
��
0
�����������
� 
���������	���
��

��
�
�����	��
��−��
�
�	���
��
�Χ
�
���
�
�

�	�3����:
�
Β���		����
Β���
���	����∀	
�0
�
�	�	��
 � ��8 � Χ
�
�


�Β � �� � ��
 � −��
0
�
�	���
�
�
���
���
��	����

�	�3����:
�
Β���		�5
�	��
�Β���
�	
�
�%+
����
� � −�4��
����
 � 	���Β � ���
 � ?
��


3�
�
�
�����
������
��
�Κ
���
�����
��
�	�3����:
�
Β ���		��
����
��
�������
�
�
	

�

� � ���∀	
��
�	�	��
� � Ε
��


�
�
����
� �3���Β � 	��� � �� � 2	��
� ���
�
���0
��		
��

�	��	
�:
�
��4���
��	
�
	
�������
�	��	
�����
��:
�
Β���		���	�∀���	��
��
0
	���
��������

��
�
���������
���
�
 � �
∀�

 � 8���
�Β � ��
 � Χ�� � �
�
)�
�����	���
��������
�
�	����

&%



�	��	
�����
��:
�
Β�	������
�8�����
���
�
��
�����
� � ��� � ��
 � 
��	
��	
� � −�4��
0
����	���
������	
�
��

�	��	
 �����
� �:
�
Β ���		���
 �5
�	��
�Β
��
 � 	
�
 � .& � ����
� � �� � 
��
� ��
	

�

�
9��� � �
�
�Β � ��
 � ��������
∀
 � ��� � ���0
�
�8	��8
�
��
��Η
�
�	�4�
��

�	��	
�����
��:
�
Β���
�������
��
��8��0
�
8
�Χ
� � �
	
������ � �
�� � <��
� � ��
�
��
� � ��� � 	�
 � �� � ���
� � ���
� � ��	0
����8	����
������

��
��
�	��	
�����
��:
�
Β�	�����
�
����
�Ε
3��

������
��
�Β���
��
�
��:�Χ���	

�����
0
3���
 �3���Β � ��� � �
�
� � ����
��
�
 � ���
�
��
���
�

���������
���
�	��	
�����
��:
�
Β���		��
��
��
�

����

Ε
����
�
� � ��
���		
� � ��� � 
�� � ����
	
Ε
����
	Χ
�����
���4����
≅
���
��
���
�0


�Β���
����?
��
����
8���
�	����
�	��	
�����
��:
�
Β���		���
��
Χ��8
����
���Ε���	
�
��
�Β����Η
	
≅�������������
���!	
≅
��	��
��3�
�
��Χ
�
��
�3����
�	��	
�����
��:
�
Β���		����
�∆��

�
����	
������
∀�
 �  ��8
��
��
 � 
�����

� � ���
��
�5
�	��
��
��

��
	�
8
�
�
��

�	��	
�:
�
��4��
����
�
��	��
	��
��	�0
�
�Β���	���
�Κ���
	
��
 ��3
�
� ��
��

�
������
��
����
��
��
 ���
�
� �?
������
�
�	
�

�	��	
�����
��:
�
Β���		���	����	��
Β�≅40
��	��
 � ��� � ����	
����
 �Ε
�
��	����

�
���
����
�
 � ���
 ��
����
� ��
∀


� ��
	�0
��
��8���
��

�	��	
�����
��:
�
Β���		����∆��∀	
����3�

���2	��
��!��Χ
��∀��
����4�
�������
0
�
��
��

�	��	
�����
��:
�
Β����
����
����
����
�0
3
�	
�Β � ��
 � �
��
� ���� ��
��


� ����
�Β
��� � ���∀	
��
�	�	��
� � 3�
 � ��� � �	��
��0
	��
���
�

�

�	��	
�����
��:
�
Β���	���4�
�
��−
��
��
����
��
��

�	��	
�����
��:
�
Β��
������
	
��

��:���
���Χ
�	

�
������	
��
�7�	���
������
0
	
�
��
��

�	��	
�����
��:
�
Β�	������� 
�	������
�3�	��
���
��Ε
�
��	����

������
�40
�
������
����
������
�
	�9�����
�
��0
	���3�
�
������
��
��

�	��	
�����
��:
�
Β���	�5
�	��
�Β���
����

������
������ �Ε�


	 ��
	�����
��	���Β
�����
�:�8���
�����
�
��

���
Β���
�����
��9��
�	���Β��
��5∀��
�0
�
����
�Η����
�
����	��
�Β��4		
����	

���

���
Β ���
 ���	 ����3
��
� ��������
��
�
8���
�Β � ��	 � 7��
��
 � �����
Β � �4		
�
��	�
���

���
Β���
�

3�	��4���
��−��
�
��
���8��0
�
�Β��4		
����	�
���

−4� � ∆��∀	
���Β � �4� � 2	��
� � ��� � �4� � 
��

�
�������

�Η
�
�

�	��	
�:
�
��4���
��−��
�
��

&, ������



����
	8����
���

−����
����
	8����
�����������
���5
�8
�
Η���Φ������
0�
���&
&+∋∋,��
����

�������������������������
������������	����Β�((�&�(++6

�
����

��

�−��������
	8����
���Β

Χ�� � (,�&(�(++∃ � ��	 � ��� � &∃�&�(++6
�
��	��

����Ε����
��������
���
��;��
�Β
�
��3�
�≅
�
��;��
����
�5
�	��
��
��


��	 � ���	 � ∀�#
�	

 ���
 � −4#
� � 
��
� � ���
;��
�Β��
����
���Χ��	

�����
��Κ∀�

�Χ��
�
� � �	��
��	��
� ����

 ��
�4��
 �3���
Β
��
 �
��
�����
�����
���� �Χ������∀	
�0
�
�	�	��
��:�Χ���	

�Β ���
�Κ∀��

���Χ��
−���
������;���
�������;��
�Β��
���
�
Κ�		�	

��
��������
������8��
��;�∀�

�
:�����������
��3����
�	�3����Χ���4�
��&.++�)�

�������
�0
�
�
��
��	
��� 
��

�

���������∀	
��
�0
	�	��
���
�

�����&/�)�

��=&+������

�Β
/ �:�Χ���	

�> � ��� � �	��
��	��
� ��
�

 ��
0
	�����
�Β���������
����	��
��
��Χ����
�
����(�5������
��
�����
�	�
�

��;���
��
��� ���3���	
�
� � �� �Ε��� ��������
��

��� � ���
�
� � �	��
��	��
� � !�

� � ���

Ε����
−4����������	
�����	������	
�2��
�
��	
�0

��
���������3
�	���������
�Κ���	���
8
��	

� � Η
�	
 � ����Χ�����
���� � ���
���������
��8�
�
��
����������
�3�		
�

	
���3���Β���		���
�Ε
	�����

�����
���

�
��Θ�		����8


���
����
��:��
��
���0
�
����
������
��:�	���
������Χ���7�0
	���
�����Η��8��������
3�
	
�Β���
	
�
:�	���
��������
���������Χ�����
	�Ε
0
�
�

���Χ
�8
��
��7�	���
��4����
���	
��0
�
��?�8


���	��4		
�����
��

��∆��∀	
�
	
��
�	
������2	��
���	
���
�	
�
�&∃�5���0


�����
���
��
�	��
�Χ
����

��
����0
�8��
Β���
�Χ��������������������
���0

�����
�
����
�Η���
�	
���	
���	Χ
�
��0
������
��Χ������� �(++∃� �Χ
�	
�
#Β ���

3�
�
����

� � 9�Π����
����
� � Χ�� � Κ�0
��	0−4��
��Β����4�
�������	���
��
	�
0
����Β��
��5��
����Β���
���
�����	����0

�8���

2��
�Κ��
����������
�2��
	���#
�0
����	

�	 �3��� � �� � 2	��
� � ��	 �?
��
�
�
�0
������������
��
��
�����

���
��	
Χ
�0


������� � Χ
�	
���
� � ��� � 
�∀�
 � ����

������
�Β��
����
��
������8�������
��	0
��
��	��
 � ?
��
���� � �� � 
��
��
�Β � ���

∆���
�8��
��9�������
������
������8�0
�
���
����
������	��
��−���
��=�4����

���∀�����	0��
��
���Β5
�����0Β
Η�		
�0Β�
���Χ
�	������Β7�3
�
��> � �4�
��
�:�Χ���
Χ��8
���������

��
��
Ε
������
	
	����
��
������8��
�����
�

��
 � �
��Κ��3
�	 � ��� � ��
 � Χ
��3
��
�


9��
��
��5
�	��
���
�
��Χ�
�
�����
0
�
� � ��
 � Ε
�
������
8
���� � Χ�� � ����
�	
�
��	��
�Β�−���������



�Κ��
	��Β���

Χ�� � 
��
� � −�
����
0Ε
�∀����	 � Ε���
	�����
�����∀��	

�;��
�8�����	��
��	��
�
���
Χ
���
#
��8���
��������	��
�� �0

�8���
&∃

���
���
�������������



∆�����?��� � 
��
�
��Χ���:
�
�����
 ��
�
���
������
�
	�����������
����
��
∗
Μ��		���	�
����∀�	��
����
�
���!��
�

��
	�Χ����
�
	�������Χ
�4�

�����#
�
7��
��
	�3���
������
���
	������
��≅40
��	��
� ��
��
 � ��	 �?
��
Β � ���
�
� �7�0
�
��
����
��Ι�Ε����
���
�
	��
�∆���
�8
�
3��8����Β�
	�	
��
��
�Η�
�
���
�������
�
� ���������� ���	
�
� � ≅4��	��
� � 
�0
3���
	����
Β���		�����2	��
�����
��	����
�
�������	��	 � ���
	 �����
� � ����Β �3�	
����	���
���
�
���∀��
ΙΝ
Ε��
���9
ΧΦΒ�
����
�����
�

��������0
��	
 � �
� � �	��
��	��
� � :
�
��� � Κ���

�
	���
��
∗
Υ�
�
�Β � �
� � ��
	
� � ;��
� � �
��
�
�
��
Β
�
��
�
�
��
���������
� 
���
��
����
	
	
;��
�
	� � �
�
�Β � �
� � ��
	
� � ;��
� � ��	
�
��	
Χ
�

�������	8��
� � 	�
�
Β � ��
 � ��

������	��
 �  
���
3��
��� � �4� � �
		
�
−���
� ��� � 
���
�� � �
�
�Β ��
� ��
�

 ���

∆���
�8
��������
����

�
���
��
Β �3
�0


�������
�Β �3����������
��;��
��
��
;���	��� � 
���
����
���
�����
 ���� ��
�
�
�����Η
����
	
��;��
��Χ
�

����
Β�Χ
�0


����
��
������
�8
���
	�;��
�
	�ς

�
����

��

�−��������
	8����
���Β�3��
����
�����
�	
��������
������Β�2��
� 
�0
��
3��
����������4��∆��∀	
����
�
	���
0
�
��3������
��
����������
��
��
���0
�∀���
���������
����

��−��
�
�������
0
	
� � ?
���� � ��������
�

�Β � �
� � �
��
�
 ��8
���
���9
�
�����−��
�
�Β�Ε
�
��0

��8
�
���������
��
�
�
��������
�

2	��
����		�
�8
��
�Β���		�	
��
�����
�0
�
�
 � Χ�� �Ε
�
��
��8
�
 � ��� � ���
�����
�
;�
��	

�� � ��
 � 	
��
� � <������� � ��0
�∀��
 ���� �����
 � Χ���Χ
���
��
��	��
�
���	�
� �Χ���Ε
3��
 ���� ����
3∀��
��
�
�
	�
������������������3
�	
���	
 �2��

∆�����
 � ��	 �?
��
����	��
��� � 
��
	 � �
0
��
���


� � 9���
	� � ���� � ��� � ����
�
�����4����
�����
��
�
�2	��
�	���		�
��0

�������
�Ε
3��
0�����Κ�			�����
���

�0
�����
� �3
��
�� �Ε
3��
 � �	
 � 
�� �;�
�	0
����Β ��
��	����	
��	
 ��∀��
 ������
��	���
	
∀�����	
��	
�−
���
�	�����
�

Η���	����4�
��
��
���Χ��Β���		�����
��

∆���
�8Β ���
 ����
 �;�����8
���
�
� � �� ��
�
?
�����
���
��
�
 ��������3���������0
�
����
���−��
�
�	����
�8��	
Β���
���
	
�
<��
��Χ
���
�
��

Η�����


����
Β����
	����2��
��5���
��

0
�
��
 � �� � 
�� � �4� � 
��
� �∆���
�83
��	
�
�
	�≅4��	��
���
��

	����	
��
��
��
�
�
����
��
�
������
��5
�	��
�����∆��∀	
�0
���3���
���Ε
�
��
��8
�
�������
�Η4��

�
	 ����∀	
��
�	�	��
� � ��8
	 � 
�������0
�
����	
��
��
�����
�Η
���4��−��
�
����
�
��?
�����

Η�����
�
����	Β�Χ���2��
��������
��

5�
���
�������
������	���
�Χ���
��Ε�40
#
�

−4����
���	
��		

��
����	����

&6 ����



���6#���∋(������


���
������3∃�8���∃����
∃�	
�������

����	
8��
!∃(#��%#����3

= ���;��� �5�

���	 �;���	
Β �Χ��
���
�0
�
	 � 9
��
���	��
Β � 	

��Χ� � ?
�
��
	�
�

�
�4�
����

���
 ��
��
����
� ��� ��
� ��
��

�
�
	 �<��
������5�

�
�
� �!	

�	Β �����0
8�	Β��	�
�	�����9�

����
��8�	>

/+�����������(++6

�
����

��

�−����������Β
	
����

��

��Κ
��������	��
�����Β

Χ�
�
�����8��4��2��
�����
��Χ���((����0
���� � (++6� � ��
 � ����
	8����
��� � ��

���� ��
�


�Β � 2��
� � �4� � 2�� �����
��
�
������8
������2��
�������
3��

�����



���
� ���
 � 
�	
∀����	 � ���4�Β � ��		 ���

����
	8����
��� �����������
� � �
�����
�
� � �� � 	�
 � �
����



� �����
��
� �����

�
�	���������
3��

��8�����2��
���	�4�0
����
� � ��� � ;���
�
��
 � 3
��
� � ��
�
	
�� �����
�8	������ �;
��
��	 ��
���0
�
��

������
��	�
��������∀��	
�
��
�;���	

�0
��������Ρ�#
����
���
������
	8����
0
��� � �� � :�	���
����� ���
 � �
� ���	0
�������
	�;��
�
	����Ε���0�
�
��
����
�
?
��
����		��
��
� ���� � �

� � ��
 � ����
�
���
���� ��
� �;������������
� ���
(6�&(��
�8�∀�
Β���		���
�����
	8����
���
��
� 
���
3��
�����4����
���
3��8����
�
���
��Κ���	�	�
�
�����	��

∗���
�Κ�0
��	 � ��
 � ��
 � ϑ�
�
��8���
� � �4� � �
�
Η���
�	
���	
��� � 
��	
�
�� � �
�����
��
<����
��
�����
�
	

�

�Β�4�
��5���


��������
������

��
���
	���		��	��
��0
	��
����
�����
�������
	��	��
��	��
��

)
���
�����	 � 	
� � 
	 ���	 � �
��
��
 �?
��

2	��
�	Β � ��
 � 
��
�
 � �
Χ��8
���� � ��
	��4
�
���
��
 �����
	8����
��� ���
 � �� � ���
� �<
�0
≅���	��	�����
 � ��
	
� � 8���
� � �
���
���� � 
����� � ��

�	
����
�∗ � Μ7�	���

����Η��8�����
���
�
�3∀�
��
�;∀���

=	��Λ> � �4��
� � ����
 � Χ
��
		
� � 3
��
��
�
��)
������
��Κ���	�8��������
��8�
�0

�
�
�3
��
��Ν

��
	
����	��∀
�����3����Χ����
���
�	0


���
�����

����


��
�������
������∆�0
�∀	
��
�	
���∀	��
�
 �����	 ���
� ����

�

������70;����		���9��	�5���
������
	
��
���
	�������Ε�������(∋�Α(%������0
���
�8�∀�
Β���		���
�Κ���	���
�Μ4�
�3∀�0

��
��
 � 
���
3��
���Ν � �4� ��
� �;��
�
���Ε���0�
�
��
��
���
���	��	
���	������

��
�
��
��Β�����
��Ρ�#
����
���
�����0
�
	8����
��� � 
��
 � ��������3
�	��� � ��
��
�Κ���	��4���
��	
�
������
��

����0
�
��	

��<���	
8�����8
����	
�
��

��
�	
�
����
�7�	���
��4���
��?�8


�0
�
	���		 � 
��	
�
�� � �
� � 2	��
� � ��� � �
�
Μ����8��
ΝΒ � 3�	 � �
��
� � �
�	������
�
5
���������������
���	���	�
3��
���
0
�
����

�3
��
��8���Β�3
���
	���
����
0
���
���
��
��������2	��
�	Β���
�)
���0
��	�
���� � ��� � ��
Χ��8
���� � ����
�
9���	
����
 � �� � 	4�����
� � 2	��
� � ��#
�
���
��∀		
��)
�����	
�	��
�Ε
3��
�������0
�
�����������
�	��
��:�
�
�8��������
��80
�
�
��
��	
���
�
��;��
�����Ε�����	
�
���
����	��
	���0

����	���
����#
��9
����4����
���	����0
���
�:�Χ���
Χ��8
������

(+



�� ���
 � ���� � 
����� ��
�� � �
�
���� ��
0
����
Β���		����
��
��	��
����

���	Φ�0
�

��	��
��;�����8
Β�����
��	����)
���0
��	

����
��;∀���
������
���
Χ��8
����
Χ
��
��
� � ��
� � 	�
 � ��	 � ����
�	�����
��		������
�Β � ��
 � ��Χ��
� � ∆
�	��
� � ��
�
	���
�
��Η
�	
��
��
��

5�
 � �
� � ≅4��	

� ��	8���
��� �3��� � ��	
���	
�	�� �Χ�� ����
���
�4��
Β ���		 �
��

:3
�	
��

���	��� � �����
�� � 
�����
�0
������	
�������
��
��4����	�≅4��	��
� ��8
�� �2	��
� �����
�� ��
��
 � �4� ���	 ����∀	
�0
�
�	�	��
� ��8����∆��∀	
������
���
����0
��
 � ���� � 
��
� �  
�����0����	��	���
�4��
�
	�����
��)�
�����
�3
�

�Β������
0
	
� � ��	
���	�� � �
���
�
� � ;�����8

�����	∀
����� ���
�−���
������ΜΗ
����

������ΙΝ���
��ΜΗ
����
�?
��
ΙΝ����	

�0
�
����
���	��
��	��
�������
	

��
����
���

��
����
�8
� �����
��:
�
 �Χ���(+��<�0
Χ
��
� �(++∃ ����� ��
	��
∗ � Μ�
� � �	��
0
��	��0���∀	
��
�	�	��
 �;�����8
 � ��
� � �	


��
 �)������
Β � �� ��
� �?
��
 �����?
��

���
�����
�
�
��
���2��≅4��	

��:
�
��
�0
�
�������	����
���∀����
��7��
��
 ����
7��
��
����
����	��∀		
�	��������	��3
�
Χ
���


���Ν

��
 � ����
	8����
��� � 	

�
 � 	��� � 
���0
��
�
�����8��	
Π�
�
��4��−��
	����


���
−��
�
�	����
		�
������
���
������
����0

�
�

� �<
�≅���	��	�����
 ����
8
 ������0
�
�4�
∗ � � Μ��
� � Χ
��
		
� � �4��
� � 3��
���� � ����
Β � ��		 � 
	 � �� � 2�

�
		
 � �
�
5
�	��
�������
��
���
�

��8
��
�Χ
�0
�4��
��
���

���
�Χ
�����
�����
�����
�
:�	���
��
�
��Χ���2	��
��	�����∆��∀	0

��
�	
�������3
���
��

�����
Ν��

�
�
�
	�������
��?
�
�����
��;�
		

���
5∀�� � (++∃ � ��
 � 	�
 � �
��
 � �
�

� � ��
Μ	���
�����

� �;�������		
�Ν � ����
0
����
�
�

 ������
����
 �	�
����
� ���
�Η
�

�Χ��
−�
��
�
Β ��
��8��
�
 � ��� ����
��� ��
�
5
�	��
�34��
���

�	
����
�∗�Μ��
���0
Χ
�∀�#
�����
�������

�����
�Η4��
�≅
0
�
	 � 
���
��
� �5
�	��
� � � � ���
���



	
��
	 � Ε
	���
��

	Β � 	
��
� � ��	
��0
����Β�	
��
��������
Β�	
��
	�Ε����
�	Β
	
��
� � Κ
���
 � ��� � 	
��
� � Κ
�8���
Ν�
��
	 � �	
 � 
��
 ��������
���� � �� � 2	��
��	
����∆��∀	
��
�	
��

��
 �  
���
3��
��� � �
� � ����
	�
��
0
������������
������
�	��
���8

��
���
�

��� ������Β �
��
� �Μ���
����

� �Η���
�0
	
���	
���Ν����
��
���
�Β�3�
�����
��?
	�0
��
����&∃%+��
����
�
�����	8����
�
��

��
�����
	�
��
�������
���������
�����
�
� � �7 � 
��
� ����
�
	���� � Χ���
	����0
�
�Β��
�����(,�����������	�Ε�������
��4�
��
 �3
�

�
� ��
�4����
� ��
� ��7��80
�
�
�
�
�3���
��5�
��
���
3∀�
�������
	
Ε���0;��
�
	 � ��� � 
��
	 � ���
����

�
Η���
�	
���	
���
	��
�� 
�����
�����3
�0


�
��)
������4		
�����
���	
�
�����
�
��

�����
� � 3
��
�Β � 
��
� � <
�	
��

�����
��Η
�����
��
��9�	�����
	��	��
0
��	��0���∀	
��
�	�	��
� � ;�����8

	 � ��
��

��
��
��

��
 �����
	8����
��� ���
 �	��� �3∀��
��
�
��;��	
���
���

�	�Χ
��;��
�8

����

�
���


����

���
��
	0�����?
��
����	0
��
�	����
������
��
��;�����������0
�
� ���� �
��
 �Η���
����
 ��
�4�
� ���

��
�������4�8�������
�∀�Φ�
�	��
�� 
�0
��������
� � �� � 
��
� �Η���
�	
���	
���
��

�	
4
�
 � ��� � ��
 � ��� ���������� � �
	
∆�∀	��
�

� �5�����8 ����&∃�&�(++6 ���
�
� � ;���
�
�� � �� � ������0
�0��
�8 � ��
�
	�
�
������
	�Η���
�	
���	
���
	�

��0
�
����
���������	
��
����
������
�0
�
� � )�
��
� � 
����∀�	��
� � �
��
	0 � ���
?
��
����	��
�	 � ��
 � �
� � �	��
��	��
�
?
��
��������)
���Χ�ΧΒ����������
���
��
(&



�	��
��	��
���
�

��������#

��
�4���0
�
���
���
�����
�������
��
	����
����0


� � Η���
�	
���	
���
	 � ��� � 3
�

�
�
−��
	����


� � �� �<���	
���
�
�	����
		
�����∀��
��

Ε�
����
�
���
�
���
�����
	�
��
��������
5������	

	Β������
�������
∀�
���
��
�0
������Ε���0�
�
��
�����Χ
��
		
������
�����3
�

��������
�Κ���
����� 
��
		
0
������
��9
�
�		�
��
�����
��∆��∀	
��
�0
	
�����������
��Η
	
���8����Χ
��
		
���

�	 � ���
 � ���
���
���
 ��
�4����
� ��
�
����
	�
��
����������������
��
	���0
�∀	
��
�	�	��
���
��

	Β�3�
����

�
�����
��
 ��
� �Χ����
� �����
	8����
��� � ���
�0
�
�

��;���
�
�������7�

�	
4
������
�
��Χ��
��∆����
�������
	�?
��
		
��

	���
(.�������(++∃�����
�����

�	�3�����������������8���
�Β���		���

Κ���	�������
�−��
	

��������
��)
����0
�
��

��
 �Χ
�����


 ���� �	��� ��� �����
�0
	��
��9�	���
���
8
��
Β�����
�
��
���0
�
����∀	
��
�	�	��
 � �������� � ��� � �
�
Ε�������
 � �
	 � 	��
����

� � Θ���



0
;��

��
��
��
���
�3���Β���
���
����	

���

2	��
�	 � ��
�8
��
� � 2��?���
� ��
� ��7
�����
�
��	�����
��
���
�
����
��8�0
��	��
� �?
��
���� �3��� ���
 �����
	�
0
��
���� � ���
 ���	
�
�����
� � ��� �ϑ�
�0
3������ � �
	 � �	��
��	��0���∀	
��
�	�0
	��
��;�����8

	���

��
��
��

2�����
�����8�	��
��
�	�3�������2	��
�
��	 � ���� � �
� � �
� � ∆��∀	
��
�	
�� � ��

Κ���������
	��3���
�����	
��Β ����
�0
�
��9�	�������8���
���2	��
���3
��
�

�����Β�
��
��Χ
��∀		����
��∆��
�
�������0
�
�Β���
�∆��∀	
��
�	
� ��3
��
�������
�
�	��
��	��
��Η���
�����
��
��−��
�
�	��0
	���� � 2� � ��
	
� � 9��
 � ��

�����
 � ��

����
	�
��
���� � 
��
�����
 � ��	
�
�0
����
�Β�����
��
��
�

�����4�8����
��
�
−��
�
�	��	���������

�	
4
�

���

�
���
��
 �9�	��� �8��� �����
 �
��3��0
�
�Β �	���
�� ���� ������ � 
�
���
� ����

��
 �  
�	
∀������� � �
��
� � �
�

� � 
�0
�
���
�3
��
��

5�
���
�������
��Ε�4#
�
;���	


(( ������



Ε��
���
��������.+0≅∀����
��∆��
	

�0
�����∀���Χ�������5����
��5�Φ�

9�
�
��5����
�Β

3���	����	�����

3�	�	�∀
��������
���	
0
�
� � Ε��
���
���Β � ��
� � 	��� � ����
 � ����
∆�����
�Β � ��
 ���� �Η���
� � ���� � �
�
−
	
��
	��
�8
��
8���
Β������
����




ϑ�
���	�����Ι

��������	
���	
�����3������
�������8�Χ
�0
������


Λ �Η��
� �ΜΧ
�������


Ν�	������
Μ��		Ν�8����
�0���	��	
 �
	�����
� ��	���

��
 ��
������
� �:��
�������������
���
���
��Β���
������������
������
�Β�����
0
�
���������������	
�
��
3
������
0
84��
�
���	
Β��
�����
���
3���
����	
�
��	 � Ε
�	
����
� � �
���
Β � ��	 � ����	
 � ���
∆��
	

�Β���	�5
�	���

�
���Η��
���
�=������
�����>�Ε
3���

�� � ��	
�
� � �
3
���� � ��� � ��	 ���3��

�
	�−��
�
�	�����
��Τ��
�
����8
�
�

Μ���
� � ��
 � ��	 � ���
	

�8
Ν ���
 � 	
��
�
�
�
�	

����Β ���
 �	
��
� �Ε����
�	��
�0
�
Β���
�	
��
��5
�	������8
�
��

5�
 �3
�

��Κ������

� ����������4�
�0
����

��)�
�
�����ϑ�
���
�
������

2����
�
�#
��
��∆�
���

�Β��
�����8
��0

��
�Β����9
�
���	

��Β������≅

�
�����
����
��Ε�


	��
�	

����

���
�0�

��0Κ��	 � �� � ���	����Β � �� � �
�
∆��
	

�����
Β�����
�����	����
����	�	0
�����
Β � �������	
����0��	����	��
����0
�
�
	8�
�	�����������
�
�
	��������4�
�0
�
��
��
� � ���	�
� � �4� � �
� � −��
�
�Α
��������Ε�


	Β��
����	�����	
�	����
0
�
�����
���
Β������
��3��������	
�
��:
�

�
�
�����3
��
����		
��	���
����������
	��
��������������	��	
��9��
��

Μ:3�� ���4�
 ��
� �−
��
����������
Β ���
�
��?
�
���	
�����
	��
������
��

�Β��
�
Τ�����������
�8
��
����
���Β���
�;���0
�
��
� � 
���
� � 8
��
 � −����
Β � �� � ∆�
���
	��� �8
��
 ������
Β � �� ��
��� � 	

�
 � 8
��
?��� ��
��Ν � � � 	� � ��	
 � �� � 
����� � 
��0
����8	Χ��� ��
� �∆����


� �Κ���8�8 ���0

�
�
Β � 0 � Μ�
����� �3��� � ��� � ≅��
�� � 4�
�
�
� � Κ
���Β��� � 
� � ����
 � �
��
 � −4#

	���
�� �3�
 ���
 �−4#
 ��
� �Κ��	��
 ����
�∀		
 � ���� � 	���
�

� � ��� � �
� �Κ��
�Ν�
Η�
 ������
 � 	��3
�
� ��
���
� ��
��
	
9
�
�	�������
	
���
����	
Β���
���	��
0

������8
�����
���
��
�

9�
�
��5����
�Β���
���������	
��5�
���
0
�
�������
�� ��	
����34�	��
�������4�
��
�:�8���
Β���		����	
��	
�Χ���−��
�
�
Ε�


	�
��4��
���
��	
���������3
�

����	0
	
����	
�

��
����
�

(/ ������



����∋(�
���
)��∋(:	��	≅(����

��
 � �

��
 � �
	 � 
��
���
����
� �Ε
	��∀�
	0
�4��
�	��	
�	
�
��
��&�,�(++,�8����		���	��
�
	

�
����
�����
������
��
��
��
���
����
Χ���Χ
���
3��
����
� � Ε
	��∀�
	�4��
� � �	

��	�
� � Χ
��
�
�	 � �
3
	
�� � <����
� � ���Β
��	��������Β���
	
�∆�	�
����	�����Χ���&666
��	 ����
 �(++∋ � ���
 ���


Β � ���
 � ��� �����
����&�,�(++,�3�
�
���
�
�
�
�8�∀�
Β���
���0
����
��
�����
�

��8����		���	���3�����0
�
��
����
 ��
��:�
�Β ���		 � ���
����� ��
	
�∀��	

������
������
	�
����
�
�∆
�	�����
0
	
�������
�3�
�
��Χ���Χ
���
3��
�����4�
�0
�
��
��	���

��
2��3�	��
���	
���
���������	������(++∃�Χ
�0
����
�Β����
���		�	�����
�4������
��
��∆
�0
	����
�
	��
����� � 

3�	 � �

�� � �∀


� � 2��
���
 ��
�� ��	
��� �3
�

���� � 	������	�
�
Β
��		�������
����
�

������
�−�
��
���3
�

�0
�4��
��3
��
Β���
���4��
��
�Χ���Χ
���
3��
0
����
��

��
���	��
������Χ�

��Ε�4��
������

���� 
��4�����	

�
������

�
����
�
��3�����	���
�
��	���������
�� 
�0
����
��
�
Β�3
�

���
��−��
�
�������
�
���
�����	������(++6�
<�� � ��
� � �� � �
� � ��������
�Β � ��
 � ��	
�

5�
���
�
���
3
�
���Η�	��
	���������

�0


������Ι
9�		
����
������≅
�������	���	

	������
	
�
�

��
���������	�
��
�
�����≅����	
�
��
∀�����
�
�������
���
��;��
���	�4�
���2��
����0
�
�Β � ���� � �� �<��
� � �
	 � ��	
���
	Β � �4�
2��
 � 
�
�
� � ��� � �
�
��∀#��
� � ��
� � ����

�������
� � ��
��
� � �
������	
 � ���8
��
!��
�������	��4#

��3�����	
���4���	����
0
#
�Λ
Η
�������≅

�
���
����	
�
�:���
���
	�Χ
�0
����
�
������
	���	����
Β������
����
�	���
	�3��� � �
� � �
� ��
3
���� � ��	 � ���� ��
��

� ���
�4�������
���������
�0Β���	���
�0
	�
��
��� �
�� �����3
�	 � ��	�
�����
�
	 ���0
�
���	�=�������
��:���
�������7?>∗
�
3
������������
��/∃6++�Ω���
�
��
�
ϑ�
�
������	�(++,�Χ���,.&�Ω����
�
3
�������	���
�������������/,%++�Ω

� ���������
��������������������&+∋/++�Ω���


��
��ϑ�
�
������	�(++,�Χ���/%++�Ω����

� ����	���
� ������������&+(/++�Ω�

��
 �∆
�	����8�	

� � �� �Κ��
 �Χ���%∋+++�Ω
8���

� � ���8 � �
� � ��	��������
� � −�����0
8���
� ���
 � 
��
� ��


������� �Χ�(.+++ �ΩΒ
��	
�
� ����
�	�
��
�� ���
 �&,+++�ΩΒ ����0
�
�	�
��
���������

��
���
��5�
���
�	�
�0

�∀�
��
����
�3
��
��
�
���3
�

�−��
�
�	��������9�����������


�����
��
��?
���
3����Χ���%∋++�Ω�
�� � �
	���
�
� � ��	���
� � �	
 � ��
 � ���
�0

������
	���
	��
�����	����
	�����
�����
0
�
�	��∀��
�����9��������
�,+++�Ω������3
�
3
�

�
� � 	
�� �3���
��
� �−��
�
�	���≅
8

�
���
�3∀��
��
−
	
�����

� � �	
 � ���
�Β � ��		 �3�� � �����
��
������
�7�

�	
4
������
����	�������−�����0
8���
��������
�Ε
3���
��
��−��
�
�	�∀��

���
3�
	
��	����
��
����
�
�	��∀��
����9������	����
#
���
0
�4�������
��Ε
	��
0�������
�0Α��	���
�0
�
�������=���
�Ε
���
���	
�
��;�������
�0
���>���
�
��
��∆��	�Χ���(%++�Ω����
2�	�
	��
�(&&∃��
	���
��8���

���
��4#

3
��
������%∋�−4�����
�ΑΗ
�8	���	�3��0
�
��������
�4��
�

<�������
��
���8
�Χ�
∀

�∗ ����
 ����8�
0
	��∀�

 � =5�
���
�	�
�
�∀�
Β � ?
������
�Β
�������	Χ���∀��
 � 

�>Β � ��		

��
� � ���
�
��
��
�Π��

���
�Β � ∆��
�
� � �
� � ��Χ
�	
�
��

�
��=5�
���
�
�Β����
�0�
��
�Β�����
�0
	�
��
�Β�Η
������
		�
��
�>Β�������������
0
3
��	
�Β � 	�
��
��
� �������
3
��	
� ���
 � ��0
Χ
�	
����
	�
����

���
�4��������#�
��
�Β
��
������������	
�����
#
�>Β�Κ��	���
	�����0
�
����
�Β � Κ��	���
	�������
�Β �  
�3��

�
�
� � Ε
���
	8��

�Β �5�
���
�
 � �� � ��Χ
�	
�
−�Φ
��Β����?������
��

��Β�

������

�
����
�
��∆�ς	��	3�

2�������
Β �2��
��
��
��8�
��
���������8���
��	
�����
����
�
	������(++∃��
�4������!�0
����	�
��������5����
�
�
��
�
�
�������0
�
�� � −4� �?4�8����
� � 	

�
 � ��� � �
��
 � ���
 
��4������������������������������������������������

��	��������
(. �������������



�>?�≅���	�
�Α�
�������Β� �
��
Χ??∆�

���
����	���Ε�	�
�	�<≅����

����)�	& ∗&���	��7	������&����	��� �
�����	�	�����	�

&�����∀��������#�
����&����	
��
∀����
∀�� � ������∀���� � ���
���
�� � ��	
>∀���#∀�	3�������� �8�
���	
�������	�

∀��(∀�	�∀����∀	�

?0��	
��� � � �0�
�
 � � � /������Α ����
��	�0�

������������)∀�
∀��������∀
:5�>���� � �8�
���	
�� ����	���
� �(�
�
�����
������ � ��

� � ��� � ���� � ∀��
	�
�
��	����������Β�
�∀���∗���∀	����
��������
������
�������
���.��
���	�
�∀�
� �	�
���� �>���� �/������	�����

��� �  �8 � 
���	
� � ��
 � �����∋
���
���
����
�
�� � ∀�� � Β�8
��� � /����
���	�������� � ��� � Β���
��	
∋
�
?)���� � �	
 � ��� � �
��
�Α � 	����
���
�������������∀	�����%��������
/������	�����
����(������������
���
��
�
 � ������ � ∀�� � �∀
� � ���
.∀	
��∀�������(∀�	�∀���∀������%���
��∀���
��	������� �,�����
�
1

������	������	�∗�������
�����∀�	���
>∀����������∀���?Χ����Β���
���Α
��
 � >∀���� �Χ���	
�� �∀�� �0∀	������
9∆�3∀��������
�	�����∀	��	�����∀��
!�∀
	
������ � ����
�� � 	�
� � �������
�����
�
������−���	�� 	��∀�/�������
ϑ������� �∀�� �+��������� �∀�� � ������

����∀	��������	���
	
������)���

��
�� � ��� � 	�
�����
� � ∋��� � ��� � ��∀�
������∀��	
��� � �� � (���#∀ � ����∀	
������∀���������1

)���
���
#
������������� �8�
���	
��(��

��� � ?��� � /������ � ��
��
����Α � ���
����
��!�����	�	��∀  ���
������∋��

������	
��
�
������:5�0�
��������	
�
������� � ��
 �  �8 � 
���	
� � 0�
����
∀��� �8�
���	
�������
����

9≅



!��	�	 � �
������� � ?��
��
���
��Α � ��
����	
�����������	�−��
�	��∀���∆5
 �8 � 
���	
� � 0�
������� � ∀�� � �����
����
� � ������
�
 � ��� � �����������
�∀�
� � ��� � (∀�	�∀���� � /∀,�#�����
������

(����� � ��� � ��
������
 � ������ � �����
������
����!�����

!��	�	��
��������������∋��(�
�����
����7�
��∀	����������������

������∀��∋

�������������&��
�������
�∀��� � !��������� � �∀� � Β����

Ε���	������������	�����	��	
�−����<��

�����∋
���
��	
������
��������
��������
?)���
���
#
 � ∀�� � �������
#
Α � 0���
	
��� � 	�
� � ��� �  �����	�	
�� � &���
��
�
∀��	������ � �∀	������� � ���
���� � �∀
� � ?�∀	 ������
Α � ∀�� � ���
��
�����
 � ������� �!�� ������
	 �����
���� � ����� � ���
�� � ��	
���∀�
 � ∀��
�∀		��∀�
����
������������−�
�
��
�������	
�������∀���2��������
����
∃�#������(��	
��

?−�� � ������ � �∀	 � ��� � � ����� � ���
(��	
� ���� ������
 �∀������ �������
�����
���
�
�����∀	��	�����������∀��

�� � /������ � ����� � ��
� � ��� � ����
∋��� � �����
�� � /����� � ∀�� � ∀�
��
��
������
���������
��������8�����
)� ���
#
��∀��Β�
������	
�����Α�

!�� � &��
��� � �∀��� � �∀������
���

∀����	
���	�Χ!����#�
��
���

������∀��� ��������∋��������������
�

������	��������
��Κ

−��
����&����	
��
∀����������1

&��
��� � ∀�� � ��	 �#
� � ��
 � /���
��
%�������∀�

?:5 � >���� � �
��
	��∋��∀�� � �	���� � Λ
������∀����∀��/�����1

�������	���∀��	��
��������

������������
�(�������
�����

���������	������∀
�	�������/���	
?�������∗�����Α1

9:



/������	��	
��

�	����	


����������2���
�	��
���

�����
�∗�������	
����−��
���0�8��

∀�����	
����,��������������/�����
	
∀�����∀�:5�>����� �8�
���	
�

�	 ���������∀ �������
�/∀����

�
�����	�Μ����%����∀�

	���������9��/������	��∀��

������������%����∀1

�������

��������

∀���������	∀
��

��������������0�	
�������∃�������

(∀		
���∀���?∃��
��Χ�∀�
	�Λ��������
����������/������	��
���Α���
������
&��
��������0�
���������
�

������������
�

9Ε ������������������



�3��#�
Γ−�
����
����������Η

����%+��Ε
���
	
���Χ������
����	
�

Η
��
�8
�����∀��
�3
�

�Λ

��	�
�����
��3������������

�������
�Κ∀��

��
	�����
�

���#
6��
��∃�∋(��
�#∋(
����∋(�����
Ι������≅�;
8����

)�6����
���
�����
���;
������


���
�
	8���
�2��
�
−�
���2��
�
<�������
 
�3���


∆������
���
�
�
∆��
�
�����

−4���
����
�	������
	�:�0
�
�
������������
��
��
	
��

�
�
��
��5�
���
�
	���0
�
��3���
���8�
��
	�2���0∆�0
8

�=��
�������
��
����0
	���
��
�>���	���
��
0
	

��
�

−���
�
���
	�����
����	0

��		

��
�
����������

2∃�3�
	≅�
2����
���(��	�ϑϑϑ

2∃��
�∋(∃		��
6��
�����
.���ϑ

(∃




�Α�
�������0�−�	���)	�����&���
���Χ∆#��
��&�Χ??Φ����������

?��	
���1 �Λ�∗�∀
�Κ�Λ�0�����ΝΑ����
��	 � Β���� � ��� � ��� � !����	������
	����∀���955Γ����%����∀�

��������∀����	
�������������	��#∀�
������	
�#�
��
�� ���� �∀�	 ���
 ����
��
��
��∀���� � ∀�� � .∀�∀��
	 ���
	 ��
���� � ��� � �����∀��� � −�� � ���
��		
���∀�	���
�����Β�
	�
������		
�	 ����� � ?(�
� � ∀�� �������� � >∀���Α
��� � �8�
���	
� � ���
 �∀�� �����������
/���� � ��
�� � ��� � ��∀�	 � ��
	
����
�������	��∀��������∃����		�����	�

�,��� � ��� � ��
�
 � ����	
���		�� � �	

∀�� � �∀� � ��� � �	 � ����� � �����
���
(�
���
�� ����
� �!���/������������
∀�	 ����
�� �������
��� �.��
���� �(∀	�
	��������������		�����������(�
����
���� �8�
���	
��	����������	������
����
&������∀�� � ��� � �������	�� � %����
∀�� �  ���
�	
��� � ∗������ � �������
−�
�
���	����	������������∀
���
�	
�
�∀ � 	���� �!�� ����	
 � ��� �  �8 � 
���	
�
���� � ���
�� � ������ � �∀
� � ���� � �	
�������
�
����������∀����������3�
���
����/��������������
�����.∀�∀��
�	�
��
�
�����������������

��� � ��	������	 � �������	 � ��� � ����
���������
� � )�� �
��� � ∀��
∗�����∀
 � 	��� � ��� � �������	 � �#∀��
%����∀� � &�� � ∀�	���� � )�������
����
Χ������� � � �
� � ������� � ��� � ����
�����∀
�	����� �/∋��∀��� ���
 ���� �	��
∀�	�����
�������	�����
��
�∀����		��
�����
�
� � /������	 #������� � ����
���������� ���
�	
������� � �∋��� �∀��
	�
�
�����(∀�������������	��#∀����∋��
��������������
��	
����	���Κ�!���������
������ �(�	�
���∀�� � �	
 � �����∗���∀	�
������∀�� � ∀�� � ��� � �
���� ∀��
 � ��
����(����
����&��	
����

��
� � ��� � ?−���	
�


���Α � 	
�����
−��������� �!���!����	�����	����
�∀�� � ��
 � ��	 � ��	������ � &��	
����
	
������	
#
��
� �����∀���� � 3�����	
����������	
����������������/�
��
��� � ��	 ����	
�� ������
� � >�	
 ��	
����
�∀�����	�� ��
����∀������
����������
��� ���	 �����#
�� �����∀
 � �∋� �∆ � >����
���#��
��−��
��������������������	�

∀�		
���� � ������� � ����
� � ��	
� ��
������ � ��	
�� � >�
� � ��	 � ����
��		���	
��� � ��	
�#�
	�∋���� � ∀��
�
�����&��
���	������
���������3���
�
������	���>������
�
��∀��−����	
���
����

���������
��0������
�����Β����������
��������
���
�� �∋� �������(�
������	
&��	
����	���������
�
�
������	�!�
��
��������	�����Β∋���	
����&���������
(∀�	�∀��� � ���� � �� �#	��
�
��� �0��
	
�����∀���∀���������������	
��∋������
0∀	����� � �∀
� � �∀	 � ��� � �������
��� � ����� � (������ � �

� � �∀ � ∀�
���
	
∋
��� � ∀�� � ���∀�
���
� � ��� � &���
	
��������	�����	
��∀		������∋���
�����
��
 �(∀�	�∀���∀�������+�����
���	������	
���
�� � �∀ � ���
��
���
!���
���	
��
���∀	����	
���!�������	

���������
�
���>������∀�����∀������
�
���� ∀��
 ����������∀���������
�����������������
�����(�
�����∀���
��� � &��	
��� � ���∀�
���
� � �����
�∀��������� �+�����
���	���∀�� � ���
��∀
	
����∃���
�����
�������∀�
��
��
∀�� � ���	� � ∃�	�
��� � ��� � ���
)��
����∋����� � ��
	
������ � ����∀�
��������

9Γ



���
<#%	
���
���8
���
?������
�����
�∃∋(��

�∃��#�����

�
��∆��
����
�����
������



�
��
����

��	
4����
�����4��������8���Η��8	���
����)�
���ΜΕ
3��
Ν�����
:�
������
∗�&����∋��;��		
�
;�	

�∗�&++�ΩΑ����4������Ξ�
)
����
∗�(+�Α(&�Α(/�Α(.�������(++6�

?�������%:�∃�#���∋(��
�∃����∃��

���	��4�
�Β��4��
�Β�����
����
�Β
 ��
�	Β�� �Ψ	Β���0?��	�	�3�
��3
�
��		

�����
��
0 ��		

������∆
��
�����
	�����

������
��
��−��
�
�	����
��

0 ��		

������Ε
3��
��
�

;�����8
�
���
�
������:�Χ��
�
−��
�
�	��
�	
�

�����������������3
�
��!	���
����Μ����;���
������−��
�
�	�
�	
Ν
=Ε����	����
>�����������������5�
���
�
��∃
��,−�6

?�������	∃∋(3�:	���

−��
�
�	����8�∀�

��
����

��Χ������
�
−��
�
�	��
�	
�
� ���������������	�−��
�
�	��
�	
��

���∆��∀	
����
:�
������
∗����6��;��		
�
)
����
∗������ 
�
���������

�  ���
���!��∀	�−��
�
�	��
�	
�����
�
��∆��������
��
:�
������
∗����&(�����
�
)
����
∗�(%�∋�Α(,�∋�(++6�

� !�����
���#�
�������	�
−��
�
�	��
�	
����;������
��
:�
������
∗�∃�0�&.�����
�
)
����
∗�5�

3���Α−�
�
��Β�
≅
3
��	������ 
�
��������

�

0 ∃
������%���	
−�
�3�����
���
�	
����∆��∀	
���
:�
������
∗��6����&/��;��		
Β
)
����
������ 
�
��������∗�
����Α�����

���
�∗�6+�5���

�Α−��
�
�	0
����8���


���������

��
��
��4��;���
����?
��
�
���
�������&����	��
�
Β�
��∀��
�������
	
�
:�
������
∗�&+�0�&.�����
�
���
�∗�.∋�5���

��
;�	

�∗�,∋�ΩΑ;��		
�Ξ�
)
����
∗������ 
�
���������

�����	��
�
�����������
��
���
�
���
!���������∋�(����)������∗�+
��
	
���	���	�
3∀��

�����
���4��
��
:�
������
∗�&+���&.�����
�
���
�∗�.∋�5���

��
;�	

�∗�,∋�ΩΑ;��		
�Ξ�
)
����
∗������ 
�
���������
��	��
��∆���������
	�−�8	)�
�

�	∗
�Μ!�9�	
��
	��
����
�	Ν���
9Φ��8�Χ����
�
���
��
�
:�
������
∗����&%�����
�=�

���

��4�
∆��≅
8

��
>�
)
����
∗������ 
�
��������

���%��∋(%∃�����
	≅�
�:(���
��	#��∃��#����

��������	
������
	
����	�����
)
��∗�+∃(&�∋&,,∋&�
5���∗�������	����1�����
�
����	
������
�
�0���
��
��
−��∗�+∃(&�.∋+%/(∋�
2�

��

∗�333����	������������	
���
�

Κ���
�����������
�����
<�∃�����∋(���
∃�
?��������∃�	
���∆���∋(��
6��
��;
���
∀#�8���%����9


/+



����� ����������



����������	
��
�������
	�

�� � ����� � 	�
 � ����
��� � ��� � ���� � ��
�������������
������������������������
����
����� � ��� � ��
 � �������� � ��
�
������� � 
��� � ������ � ��
����
���������� � �� � ����������� � ���
��
�������
��� �  ������������ � !���
∀��������� � ��� � ��
 � ���#�∃���� ����

����� � #%�
�����
���� � �∃���#�����
�����
�%��� � ��� � ��
 � ��� � �����&
�������
��������� � ���� � ∋��
����� � ��
���
���� � ��� � �������#
∋����

���������& � (�����
 � ��� � ������� � ���
���(��	��#�� � ��
���� � 	�
 � ����
��
����������
�������)��������#�����������
����
���∗� � �� � ���
���� � ��
+�∋������#����
���
���
����������
,��
����−�����(���(���������������

.� � ����� � )�
�
���		�
���(���%������///

��
 � ���
�� �����

 � ������� �(�� � ��

��� � .01∃������ � �� ��	��� � ��� � �����
���
����&��������������
�����2��		�
(����& � ��� � ��� � ��
 � 
3�	����
�����&
��������������������
�����!������
����
4�� � (����� � ������
�� � �

��&
���∃���� � ��� � �∋������� � ���� � �����

���������−�����
����5�

,��
���������������

6.

���
�	�
����������	�



����������	
����������
��	
��	�

�	���


�	�������
����	�����	�	

���
������	�
���
�������������

�
����	�� ������	������	����!�
�∀�#�������∃%&%∋&(%%)

�����������	
����
�����������	��������
�	��������	�����

�������������	������
���	���

����������������������������

	����	�����������	�� ���������
��!���	��������	�	∀#�
����

∃����	�����	����������%&�	��

��������	�
	�
�


����������	 
���� ��������	�
 ���
�
�
������
���
��������������������
�
�
 � ��� � ����������� � ��� � ������
��
	�����
� � ��� � 
������ � �
� � �
����


�
��������
 � ��
�����
� �����
��


�������������� �������
����
�!
∀�
�
�
�	�����������������������#���∃����
%��∃� � &��������
������������
�

��∃�#� � 
�
�� � #����#����
 � ���∋ �(����
��#�����������������������#�
��
������
��� � )���#���
�� � ���
� � ��
�
��
��
!	��
�#�
� � ��
�� � ���#∃∗�#�
�����
���� � ��
���
 � ��
� � +������
��
�
��
�����
��	��
��#���∋

,,



����� 
 ��������� � −.� � ��� � /������#�
��∀���
� � �
 � ��� � 0���
�	�#��
����1���
�
 � �����
���
∋ � 2� � ��� � ��
� � �
��

�1���
������3�����∃��∀4��3�#������1��
��
 � 52�
����#��+���
��
6 � �
� � ���
�������
����� �3
�∗�∀�
� ��
�������
�
������������
���������∀�
��
�7�5����
∀�
�� � �
� � �##� � %��∃�
� � ∀4� � ��� � �
�
∃�
� � ��
�����6∋ � 2� � ��� � 3���
��� � ���

+�����∋ ������ 
 ��������� � −,� � ���
(��������
��∀��#������
� � ��� � �����

�
� � �����#�� � +����#��
 � �
 � ���
8�
��������3
��#� � �
�����
����∋ � 3��
����4	�����
�/�����������
���
�9����
:����#	��
�#��� � �� � ��� � �����
��
�����
������
 � ����∃∃�
∋ � 5�
�
��	� � ��∃�#� � �
 � 9���;#∃ � �����
�
�
� ���� ��<=− �	�� ���� �������
������
����
 � ��� � 3�����
����
� � ��

>�����
∋6�:���/���������∃�#����������
��
 � +�∀4�# � ������
� � 5���� � �����
�
���∀ � #1�∀�∋6 � �
 � ��
 � 0����
 � ��
�
�
��	���������#���
��
��4	�������
������
��#��
�� � ��
� � ������
�	�����
�� � ���
�
∀�
�� � �#� � +�	�����∃��
�
��∀� � �
�
��#�������∋�+���
�2
�������)�����

��#������� � ����� � ��� � 
������ � �

���
����
� � ����4
���� � ∀4� � ?���∗��

�
�� � �
���
����
�#� � ?����1
����
�
�
������#�∀�����&�
∀#���#∗��
�∋ �;
�
∀4� � 3
������ � ��� � 
�
� � 
�
� � ��� � �≅
0����
 � �
 � :����
�#�
� � �
� � Α≅ � �

�����
���
 � ��� � 9�∃� � /�����∃∃�
5:���2�
�����∀4����
�������
�������∃
+#��	�
 � ������∋6 � :��� � ������ � 
�
��
�����#��
� � ���
 � ∃4���� � ���1
��
(�∀∀∃�

∋ ���� �
������ � ��� ����� ���
�
�����#��
��� � �	�� � ���
� � ���
�#�
��
Β���
������
∋

8�
 � 	���
� � �
 � �����
���
 � ���
;
�	�1
������� � ��� ������ � �
� � �����
��
� � 
�
�� � �
 � ��
 � 	���
��
��#���

��

#�	�����!���	���������
��∀����
∋
:������������������
���
������
���

��� � ��� � Χ1��#�
�� � ?���
���#��
� � ��∃
+���
��
 � �
 � ��� � Β�∀�� � ���
9��������
��∀�∋

/��Χ�������������!��
���Α���
�����
��#�#���
 � �
 � �����
���
 � ����

��∀���
� � ��
 � �
��������
 � ��
 � ���

������ � �
� � >�##�
 � ��	��
�� � �����
∋
:���9������� ���
�� �&#��
����� ���#∀�
	�� � ���#�∃� � ��� � ��� � �����������
�
∀1
��� � 5��� � ��
� � �
�#���#�
� � 
��

��
 � ����6∋ �Β	�	�� ���
 �3
�������
&�����
��1���
��������#��
�&������
���� � ��
�� � /#���������
 � ��� � ��
�∃
�
���4
�����
 � 9/:�!�∀∃���
��
5���# � ��� � �
� � ��∀ � ��
���
 � 2	�
�

����
�∃�#�
� � ��
�����
� � ��
� � ���
	���

�∋6�

:�� �+��1
��
������
���#��
��
 ������

�������∃�
�∃�����∃�8����∃������
�
��� � 3����	�	#������ � �
� � ��∃
�����
	�
�∋

��� � ��� � 
������ � 	�1�
���� � �1��

�##����
�� � Χ�
�� �  ����� � ��� � �����
��∃∃�
∋ � 5:�� �!#��� � �
 � ��� �+�����
���
�����
�,<�	�����6�������3
������∋
!	������##��
���	��
�����������Χ1�����
+���
�����
���#��
� � 9�
���
���
���� � 0���
�#�
�� � �∗��
 ���	�

� � ��∋
5!
� � Χ�� � ��� � ��

∆ � �
�6� � ���� � 0����
(�∀∀∃�

 � 7 � ��∃ � !�	���������
5(�
��#
�����������
6∋

,−



����∋������
������(����	����	�)�������������

��������∗����������������������������	�	��
����

)�����������	�����������∃�!������	��������	����	��	

�  +����	�������

,
���������)���������	���������������
�������

��������	�
	�
�


�������������
����
	 
0���∀ � >�∀
��� � ��
�� � ��
 � ,≅≅∋ � 2� � ��� � ��
�� � ���
��
���
 � 
�∃�
�#�
� � 	���

��

&��������
������������� � ��� � ��∃
)�����
 � ��#������∋ � 8�
�
��
� � ���
��� � ��#���∗��
 � ���� � �����
��

+�4
��
 � ��� � ���
�#���
��
 � �����


�
����������� �?��∀4��	������� �8�
��
�
� � +������
 � ��∀ � ���� � �����
	��
������� � ��	�
� �8�� � ��
�∃ �9��

��� � %��#
��∃� � �∃ � ���	��
�����
��

?��
�
���
������� � �<,< � 	�� � �<−.∋
5:�� �!	�
� ���#� � �## � ��
�
� � ��� � ��

&��������
�� � ���������
� � ���# � �

��#
��∃�Β�� � �
� � �� ���#
��� �)���6�
���� ����
� �3
������∋ �2�� ��� �3���
���
��� � �����
���
�� � ����������� � ���
�
���
����
�#�
��
�����#�
��
�������
��
	�����
������
������∋�)���∃∃�
�∃��
��
� � ,≅ � +1���
 � �∃ � Ε�������������
���� � �
 � ��� � 9�
�	���
��∀� � ���
∃����#�#���#�
��
�!#��������
�����>���
��� � �� � ��� � Β�∀�� � ��� � 9����
�#�
�����#��∃�������
��∋

81����<−≅∋�:���,.�Χ1������0���∀�>�∀
�������
���������∃�
�����
������
∋
:�� � Χ�
�� � &����#��� � ��	���
 � 	��

3��#���� � ��� � 8���#��� � ��� � Ε������
�∗
�������##�
��∀��	���8����
��
��
�
���∃�� ���
� ������#�
 �!�∀��	�
∋ �:��
53�
����� � Ε������ � >����6� ���
� � !��

�����#�
�� � &�∃∃�
�� � ���� � ���4
�
��∀ � ��
� � �
�������� � ��
 � 8�� � 0���∀
8�������������<−−���
����
����������7
��
 � /���∀���� � ��� � ��
� � 
�
� � ���
�

2�∀����
��
 � �#� � ��#������#�
��� � �∃
2����
���#�������∀4��������
��
�����
Φ��∃�
� � ��
�����∋ � 0���∀ � >�∀
�	��#����� � ��� �∃�#��1���
��+��
�����
	�#��
��∃�� ���∃�)��#� ���∃�3�
��1���
���
�� � �� � ��
���#
∋ � :�� � (�∀∀
�
�
����
�#1�� � ��
�� � �� � ��� � ��� � 	����
3
�4��������&�∃��
��∋�2�����∀∀�����
�
2
��
�����
����#����������∃�
�����

��∃ � ��
 � �	#�����
 � ���
�
��� � ��∀
(��#���∀������� �5�
���
��∗���	���+���
�����
 � ���#���
 � 2��� � ���� � �
� � ��∃
�4���� � ��� � :����
��
 � >��
��� � �
�
?�#���� � !��#∀ � (��#��� � ��∃
Β	��	�∀��#���	�� � ��� � ����∃�
���
�
	���
���
�+������∃�#�����
��
���#�
���∀���� � 3�#��� � 	����� � ���
 � ��##�
Χ���������∀4�������
�2���∃��
� �	�
�

,.



��
�������
6����##��������
∋�0���∀�>�∀
��##�
�
��∋

5�
� ���

���
���∀∀�
���
�� �∃�� ����
 �����Ε�������
�
��������
	���
∋6

:�� � ��
������ � /��∀����� � (�#∃��
&��� � ��� � >����
	��� � 	���
���� � ��∀
2�
#���
����
�����
�������4	���0���∀
>�∀ � �
� � �
���� � &��������
���
�����������∋�3������∀∀�
���
����
��∃�
2
��
�����
�� � �
 � ����
 � 2
�� � ���
(�
��
���
� �∃�� � ��∃ � ��##	��# � �����∋
�4� �>�∀ � �∃ � �≅∋ �Β���	�� � �<−≅∋ � 3��
��
� ���
� ������
 �	������� ����� ���
�
��� � Β	������� � ��� � &��
�� � 
�
�� � ��
��
�
 ������∋ ������ �&��
��
���	�
� �

:����
�#�
� � �
 � ∃�����#��
��
 � !�∀�
��∀�
 � 5�� � %���� � �
� � 2�∀4##�
�
��∃��
�6� � ���� � &���∋ � 5:�� � &����
����
�>���#�
���������#� �&�������
����
 � ��
 � ��#�
�����∃��
�∃�∀�
��
∋6 � !	�� � ��
� � 5���#�
��∃�#��
 � ��	�
 � ��
� � �
���� � ����
�
��

 ���� �3��
 ����� ���� �8�

 ���
�
��� � &��������
������������
� � �
��
�
�#����
 ���	�
∋6 �3�� � ���������
 � �∀�
∃�� � 3
��∃ ��
� ����∋ �?���������
�
��#� � �#� � ��������∋ � 53�� � ���∀��
 � 
�
�

�
�� � ��
∃�# � ��
� � %�����
�����
���∗∀∀�
�#�
��
∋6

2�����������#	��
�����∀4��(����������
�
 � ����� � �
� � ���#1��#�
�� �:���
 � ��
��∃∃�
∋�:���2��

���
���
����#�����
?���������� � ����� � �����#∗�
��∋ � 2�
��#	�� � ��� � �� � ��∃ � %��∃� � 4	��
>�
���
��
�4	�������>�##������&��
��
�∃�:�����
�>��
���������
∋

5!
 � ��
�
 � ��� � 9�∃�
 � �
� � �����

3
��
���# � ��� � ��∃ � �������# � ��

3����
� � ������
� � �#� � �� � �
 � ���
��	#������ � �� � ��
�∃ � ��
� � �
����

%��∃��∀���
���∋6� �
���)��� �	#��	�

&��������
������������� � ��� � ����
�����
�
�Β�∀�������9�������∃��∋����
���#�������
���5��

�∃�
������#	�
��
�
�1���
6∋ � ?�
 � ��
 � ,≅≅� � ��� � ∃��
9�∃�
��
��;����# ����
������>��
���
����������
���	���

����
���5��
��ΑΓ≅
)����
 � 0������� � �≅ � &����#���
� � −
81

�� � ���
��#��
��
 � +#��	�
�6�
���� � ��
��� � Η�1��� � �
� � ��������

�
�������81

�����
��!
��	����
��
&�
∀�����
 � 7 � ����
4	�� � ��
8�##��
�
� � ��� � ����
 �:��
�� � 	�� � ���
����∃�
����������
∋

5+�	 � �� � ��

 � 
�� � ����� �  ����� � ���
��∀���
������+#��	�
�������������
Ι
3�
���#�
� � ��	�
 � ��
� � ��
�
(�∃�
����
���
�:��
����
�������∀∀�
�������6� � ∀����� � ��
 � 8�

∋ � 5+�
�
��
��������
����∃���6��������&���∋

3
�#���#�
������
�Α≅�≅≅≅�����,≅�≅≅≅
�����������∀���������
��	���
������

�
����∃�%������������#��
�8�
�
��

��
����
���� � �����
∋ � 52� � ��	� � �	��
�∃∃�� � 
�
� � ���∃ � Η��##�
∃������#
4	�� � ����� �8�
�
��
6� � ����� � &���∋
5?��#� � ��� � ����
 � Β∀∀������ � �
�
0������
 � ��� � ���� � 3�
��� � ���
>��
������������
��� � ��	�
 � ��1���
&������� � ��∃�
��∋6 � &��∃ � Χ�∃�
�
��	������ �
�
����∃�&���� ��
�������
�
���
���!�∀�#1��
��4	�������;����#��

,�



�
� � ��
 � %�� � ��
 � &��������
���
�����������
��
��:���������
�����	�∋

:�
�����#�����	����
����	������������
&���∋�:���+������
��
��
�����
�����
�����
����#�����+��
���������∋

�4� � ��
 � ����∗
#�
� � ��∀���#�
�� � :��
��∃�#�� � ∀�
��� � �� � 0���∀ �>�∀ � ���4
�∋
�<<=��������������
�����
����������
+����� � ��� � !�∀��	�
� � ��
 � 93�
;
��
��������#�
�����	�
������∋

;
������&��
���������
����∃�5�����∀∀
��������
���
�&��������	����
��6∋�

:���>�
���
�
�����∃�(�
��#
�∀4����

����
���
 � ������
 � ��� � 
�
 � �4#����
 ����∋ � 3
������� � 0���∀ �>�∀ � �
� � ���
�
����
 � &��������
�������������
����
 � ��
 � �
�����
��	���� � 2��

��
��
����� � �������
 � 7 � ��
� � �����#	
4	�� � ��∀�##�
� � �
� � 4	��#�	�
��
�����
�� �3�#����
 ���
 �/���
��#�����#
���∀1##�
∋

��
��������������	�
������������

������������ ��

��� � !�������� � �∀����#�� � ���

!������� � ����
 � ������ � ���������

��� � 
�∃� � 	���� � ���� � �% � ���

����� ��� � ��
 � ������
 � ��


���∃�
#����
����∃��
�������	�
��

���� �%&��∋

���� � ��� � ��� � !����
������
∃����

(����� � ���
�
 � ������� ��∋ � ���

)���� � ��
 � ��% � ����� ���
∗

 �
∃����+�

����%�

��������,���−������.��

/���
�������� � ���∃� � 0���∗

%�∃��
����∃��� � 
����� � �% � 1����

2���
 � .�� � ����� � !������� � ��∃�

�����& �� � 
�����
�� � (�������

3����
�% � ��4������∋ � �% � ���

����� ������
�������
����������


��� �����5���∃��������∀
∃������


��% � ����−�5 �  �%&�� � 
�∃� � ∀�6

∃���
���.���� ��
+

��
���#�%�����
��.��
∃������∋

78



��������	
��	

���
�����	���
���	

���	���	�����
�

��
�����	���	����
��	�����
�

��������	
�	����
�����	�������	
�	�	
�
�	� � ���	����� ��������� � ��� ��	
	��
��
���������������
��������������	�
��	����
���
����� � ��
� � ���	
�	

���� ���!��
��������������∀�	����

#��	����
�∃	��	
%�
�������
�∀��	���
&��� �	��
 � ∋���� � ��� � !�� � ∃��
���
(�����)��	��∗������	
�	��������

���	
��� ���
 ����� ��	�� ���
�	��� � +%
��������� � ��� � �	�
� � ��	����
,
∗����	−�����������
	�������
��	����.�
�	� � ��	���	���
 � ∀�
�%%������� � ���
���%��
�∗����	��������(� ���/�����

∃���������0�
��	�
���/��������)���


���
(����� � �	�� � ���	�	
��� � ���
���	�	(
� � ∋���� � 	
�) �  (���� � �	�

��(����1�/
�	
��%(��	��)����������
∃� � ���2���� � 
���� � ���������� � ∃�
.���3��
�	
��%(��	��)�4�������	����∃�
∗����2����) � 
������ � �	�∃���
�����
��� ����
(����� � ��� �#�������� � ∃�
�������

56

���	
��	���
�����	���
����



∀����	�� � 
	�� � �	� � ��
 � ��

������(
�	���� � ∀	∗	�	
��	��
�����

∗�� � 0�
���	�∃ � ����

�) � ��

 � ���
/�������
�%	��	����������7���������
����8����������������������	��� �
	�
/�	������� � �� � �	� � 8���� � ���
����������
����� � ��� � ����
� � �� � �	�
∀����� � ��� � ���
(����� � ∗��
�����
�	� � ��
 � ���	����� �0������ � ∗�� ����
���	
�	� � 7�� � �
 � 	
� � ���� � �����
�������	�) � �	� � &.��� � �����
!��
�����∃��������)�∃��
��.�∃������
	�� � ������� � ∃� � ∗��
�������� � 0�

���	
��	��� � ��	����
�������� � ��2��
��
 � �	� � �	��	
��� � ���
����� � ∗�%
9�	�� � �����
1 � �������	� �	� � ���
��	����)�4����%�

�����
 	 ��� 	 ����
�� 	 ��
 	 �����
�


���	
��	������
�����


�����
��������� � ∗�� � ���
����� � ���
����������
�����	
�	 �
��������	� ���

	� ���� �
	��
� ���
 ���	����
 ���� ����
�������	� �	�� � ��
�
 � ���	
��
 � ���	
�
�	� � 
��	�) � �	� � ��	���� � 
�	����� � 0�

�	��� �8��	�� � �.� ��	� �0�%��) � 
�	���
���������	��	� � ��� � ��	���
�	���
�	���� ��	� �8�	���	������ ���� � ��
�

����������	���	��∋����)��%����
�	��%
9�	�� � ��� � :	���) � ��� � �������	� �	�
��� � ��
 � ��	����
 � %	�∃��	� �� � ���
������	� � �� �4��� ����� ���
 ���	����

%	�∃�����	���� � +� � 
�	��� � #��������

��������	����
�����	��4�	�������8����
∗���������)�7�����������0�
�������
��� � ����	��� � 
��	���	
�� � %	� � 	����
�����)���

��	��&.����������!��
����
������9����������4��� ��������������
������
��.�∃���	���

 �������
 	 !∀� 	 ����
�� 	 ��


������
�����
 	+����%��	�� � ���

	
 �

	��)�����������0 �	�����2���
��
��� � 0���	�� � +% � :	���� � ��

/∗�����	�%
 �
��∃�� ��	� ���
 �%	� ����
&	� �	�� �	� ���
�	������ �����
�.���
�	��4��� ��������
�7���	����
��������
7��������	� �	� � ���� � 0�
 � �����)
�����
�	��
� �����!��	���	���������,

�����
 �8�	���	����������∋���� �∃�%
���������7�
����0 �	�������������

∀	��) � !��
���� � ����∃.���
����	����
∃� �∗���	���� ���� ����	�	
�� ��	� 
�%
∃� � ������� � ∋�	�	
���
 � 7���	��� � ���
�������	
����0� ���������������
�∃��
/���	� �����∗������������.�����∃�
7������ ���� ������� ���� �∃�� ��	
	��
�	��
�������������	����
������
��&	�
2����� � ;��� � ���% � ∗�� � ∋�	��)
 �	�	
	���� � �	� � !	�	���	
	����� � ���
	�������	������ � ��∃	�������) � �	�
9.
����
�	��
����� � ��� � �	�
∀��
�(���� � ��� � :����
����������
∗�� � 	%%�� � %��� � !��
����� � &	�
�	���
��∃�����
���%�!	

�������∗��
9��	�	�� � ∃�� � 9��������	���� � ∗��
������) � 7������.� ��� � ��� � 
	
 �	,
%	�	����� � ∗�� �!��
����� �&	� � ∗��,
������������	����	����
�(��������∋����
∗�� � 9��	�	�� � ��� � 
����� � 	���
4�2� ��� � 	% � 	�������	�	(
�� � 
	�����
��� � ���	
�	 � 	
� � ����	� � ∃�� � ∗�����,
�����	�����∀�
�%%������	��%	�������
!��
����������	�����������9��	�	��
���� �&�����
���������)��	� �
	����.�
�������	� �	�) � ��	���� � ��� � �	�
��������������4��(�������	�
��∃���

5<



7�
�� � /�����%��� � �	�� � ��� � !��,

�����.��� � ��� � ��� � !��
����,
�������) ���%��(� ������� ������	��%
�����
�(���������&	��
���������

&	� � ������ � �	� � ����	�
����� � ���
�2�	� �	� � 
�2� ��) � ∋����	 ��
���������	 � ∃� � �(
��) ���� ��	� �������
��	 � ��
 � 
���
� � ��%	� � ���	����� �&	�
������ � !�����	
%�� � ���

�� ��	
��) � �	� � ∋�	���
���∗����	����) � ������ �� � ���
.����	���� ������� �����∃�%���	����
��∃	����� � 7�
��� � 0���	� � 
���	�−�
∗��
��	����� � ���%�� � �	�1 � ����

�,

�	�
�	����� � ��� � �	� � ���2�������
��
 � �	����� � :����

�	�
) � 	�������	,
����������������������=��;� ��)��	�
7����
�.�∃��� � ∗�� � ���
(�����
,
	�	�	��	∗�� � ����
� � �	� � ∋�%������
��� � >������	�� �	�
����	�) � ���	�	
���
/	����

���%� � ��� � 0�����
�����)
=����
� � ��� � ∃	∗	��� � 7������
�%)
0������∗�����	����
�	��
����

���������	��
������

0�
 � ��	����
�������� � 	� � ���
 �����	
���� � ∋	���� � �����	���� � �	�
��
 � 	%�( �%��	
���� ���	
� � �.� � ��

��%�	�
�%� � ��	����
∃����	
 � ���
���	
��	�����∋	������	��&��������?���

&	�������	�
���
���
	
������������
∃����	�� � ��
 � ?�	� � ��
 � ������	���
#��∃��� �
 � ∗�� � ��� � ���	
�	 � +����,
���	����� � ������� � ��� � /	�∃����)
������ � ��� � !2����) � ��2��� � �����
	��� � ∗	���2��	��� � +�	�	��	∗��) � 0 �	,
∗	�2��� � ��� � 	� � ��� � ∀�
�%%������	�

%	� � ������� � �	� � ��
���� � ��
����
��	����
����	���

&	� � 
	�� � ��� ��� � �.� � �	�
/����������)��	������
��∗��
��	�����
&�	
� � ��	���� � �	
 � ����� � ����
��
 �����3��	����
�2� ����	�������	�����
��������)���

�������	�����4���	����.�
4���	�����	�����2��
�)�	%�����������
��
�
����	
��
)�������
�����	����	
��

��� � ������	 � 
� � ��
 � �����
�
	���
��
�������� � �� � ������������ � 
�
�������
�

≅Α



 
Zur Diskussion 

Im Blickpunkt 

Wieviel Wandel wird Obamas Außenpolitik bringen? 

Yes, he could! 

Andreas Zumach 

Kann der neue US-Präsident  Barack Obam a sein 
W ahlkampfversprechen einer mult ilateralen, auf 
Kooperat ion setzenden A ußenpolit ik umsetzen? Ja, er 
könnte ( "Yes, he could") . Den entsprechenden W illen 
bekundete Obam a m it  der Ankündig ung , er werde g leich 
nach seinem A m tsant rit t  am  2 0. Januar über 2 00 präsidiale 
Direkt iven von Bush außer Kraft  setzen -  darunter 
zahlreiche von außenpolit ischer Relevanz. Erheblichen Zweifel an seinem  Willen zum 
Wandel hat  der 

künft ige Präsident  allerdings mit  seinen ersten 
Personalentscheidungen (Stabschef Rahm  Em anuel, 
Außenm inister in Hillary Clinton, Pentagonchef Robert  Gates) 
hervorgerufen. 

Seine Bereit schaft  zum Wandel kann der neue Präsident  schon 
sehr schnell nach dem  2 0. Januar mit  einigen konkreten 
Maßnahm en beweisen, die allesamt  nicht  erst  die langwierige 
Ausarbeitung neuer außenpolit ischer K onzept ionen erfordern. 

O bam a könnte 

das Kioto-Klim aschutz-Protokoll unterschreiben und die vorbehalt lose 
Teilnahme der USA an den für Herbst  2009 geplanten Verhandlungen im 
Rahm en der UNO über ein N achfolgeabkomm en ankündigen;  
das Statut  des Internat ionalen St rafgerichtshofs unterzeichnen und dem 
Senat  zur zügigen Rat if izierung zuleiten;  
die völkerrechtswidrige Einstufung der Guantánam o-Häft linge als 
"recht lose Käm pfer" korrigieren, ausdrücklich anerkennen, dass die G enfer 
K onvent ionen auch für diesen Personenkreis uneingeschränkt  gelten sowie 
einen konkreten Zeitpunkt  für die Schließung Guantánam os benennen. 
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Mit  derart igen Maßnahm en würde O bam a weltweit  auf Beifall stoßen und die 
Voraussetzungen verbessern für die Bewält igung der fünf größten außenpolit ischen 
H erausforderungen, die zum indest  seine erste Amtszeit  best im m en dürften:  I rak, 
Afghanistan, Russland, I ran sowie I srael/ Paläst ina. 

I m  I rak wird O bam a nur einen Wandel bewirken, wenn er über den versprochenen 
Abzug aller 7 5 .000 K am pft ruppen innerhalb von 16 Monaten auch die übrigen 
7 5 .000 U S-Soldaten abzieht  und sämt liche U S-Milit ärstützpunkte schließt . Mit  
Blick auf Afghanistan kündigte O bam a im Wahlkam pf zwar eine Eskalat ion des - 
auch nach Einsicht  führender U S-Milit ärs -  längst  gescheiterten K rieges gegen die 
T aliban an sowie Druck auf Deutschland und andere N AT O -Verbündete, sich noch 
stärker als bisher mit  eigenen T ruppen an diesem  K rieg zu beteiligen. Seit  der 
Wahl gibt  es jedoch einige Äußerungen aus seinem  Beraterkreis, wonach die 
künft ige U S-Regierung doch zu einem grundlegenden St rategiewechsel in 
Afghanistan und zur Beendigung des K rieges bereit  sein könnte. 

Anlass zu vorsicht iger H offnung gibt  auch der U mstand, dass O bam a nach seinen 
T elefonaten m it  den Präsidenten Polens und G eorgiens deren Behauptungen 
dem ent ieren ließ, er habe seinen beiden künft igen Amtskollegen die Fort führung 
des "Raketenabwehr"projekts in Polen und T schechien sowie der Bem ühungen um 
eine Aufnahm e G eorgiens und der U kraine zugesagt . Ein Verzicht  O bam as auf 
diese beiden Vorhaben wäre die wicht igste Voraussetzung, um  die polit ische 
K onfrontat ion m it  dem  wiedererstarkten Russland zu deeskalieren und einen 
neuen Rüstungswett lauf zwischen Washington und Moskau zu verm eiden. H ilfreich 
hierfür wäre auch, wenn O bam a sein Wahlkampfversprechen, neue 
Rüstungskontollverhandlungen m it  Russland aufzunehm en (u.a. ü ber 
Welt raum waffen sowie ü ber ein Nachfolgeabkom m en fü r den 2.009  auslaufenden 
ST ART -Vert rag z ur B egrenz ung st rategischer Atom waffen) , m öglichst  schnell in die 
T at  um setzen würde. 

Am  vordringlichsten wäre eine K urskorrektur der am erikanischen I ran-Polit ik, m it  
der eine Deeskalat ion und die Beilegung des K onflikt s um  das iranische 
Atom program m erm öglicht  und ein K rieg mit  T eheran verhindert  wird. O bam a 
kann dies erreichen, wenn er sich, wie im Wahlkam pf m ehrfach verprochen,ohne 
Vorbedingung mit  dem iranischen Präsidenten Mahmud Achm adinedschad t r ifft . 
U nd wenn er die ult im at ive und kontraprodukt ive Forderung an T eheran, die 
Anreicherung von U ran vollständig und dauerhaft  einzustellen, aufgibt . Eine 
N orm alisierung des Verhältnisses zu I ran würde Präsident  O bam a auch die 
polit ische Bewegungsfreiheit  verschaffen, um  endlich eine gerechte und t ragfähige 
Friedenslösung des israelisch-paläst inensischen K onflikts herbeizuführen. In dieser 
Frage hat  O bam a allerdings die größten Zweifel an seinem  Willen zum  Wandel 
geschaffen:  zunächst  mit  diversen Wahlkam pfäußerungen und zuletzt  mit  der 
Ernennung des israelischstämmigen Rahm  Em anuel zu seinem Stabschef im 
Weißen H aus. I m  besten Fall war diese Personalentscheidung ein geschickter 
Schachzug des künft igen Präsidenten aus der Überzeugung, dass -  wenn 
überhaupt  -  eine K urskorrektur der am erikanischen N ahostpolit ik innenpolit isch 
(gegen Widerstände im K ongress)  und außenpolit isch (gegen eine israelische 
Regierung, die nach den Wahlen im Februar m öglicherweise von dem  H ardliner 
Benjamin N etanjahu angeführt  wird)  nur mit  solchen Personen an den 
Schalt stellen der Macht  durchsetzbar ist .  

D ieser Art ikel ist  die aktualisierte und gekü rz te Version eines Art ikels von Andreas 
Zum ach aus dem  Neuen D eutschland (ND ) , Stand:  01.12.2008 

E-M ail:  zum ach (at )  taz (Punkt)  de 
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